Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Morning Session

Q1. Group of monuments in Mahabalipuram, Tamil Nadu were constructed by the
kings.

A. Chalukya B. Pallava

C. Pandya D. Chola

Q1. AATATZ F HETHIRH X TARHI F WHg FT fasior T3t A fam A
A. areEFT B. Yeold

C. gsar D. It

Q2. Which of the following schemes allows a person, who had been an Indian citizen, to
hold dual citizenship?

A. Overseas Citizen of India (OCI) B. Person of Indian Origin (PIO)
C. Non-Resident of India (NRI) D. Non-Resident Ordinary (NRO)

Q2. Frafaf@a # ¥ wia & Ao, v =afFa 7Y, N vF HRAT ARF o, A ARFAT W@ A gAY A
22

A. 3raede fadaTe 3w sf3ar (31 & 31m$) B. T8 3T 333« 3RS (F 375 31)
C. AT-IarsT 3w 3331 (T IR 31MS) D. Afe-3fase 3nfEerdy (vat 3m 37)

Q3. Mettur dam is in

A. Kerala B. Karnataka

C. Tamil Nadu D. Andhra Pradesh

Q3. A aiY #E

A. I B. eilcah

C. affer g D. 31Ter geRr

Q4. The schedule of the Indian Constitution has the list of States and Union
Territories.

A. Twelfth B. First

C. Third D. Seventh
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Q4. R FiwTT Hpq # Teat 3R F enfia sl A g R
A. SREar B. Ugell
C. dradr D. drddr

Q5. In historical period, Haryana was situated on the banks of which river?

A. Saraswati B. Yamuna
C. Ganga D. Godavari
Q5. e+ F1er &, gRAON fFE 7 F de W fya 91?

A. TIEICT B. T

C. 31am D. aigra’r

Q6. Who amongst the following was arrested for taking part in 'Quit India Movement'?

A. Rao Gopal Dev B. Chaudhary Devi Lal
C. Sir Chotu Ram D. Pandit Neki Ram

Q6. 'HRA BT e H AT & fav RAFafaf@a &  FY fRear fFar T a1?
A. T el & B. Tlerdy &t ofrer

C. T BIg IH D. df3d aehr I

Q7. Indian National Congress (INC) was formed in

A. 1805 B. 1855
C. 1885 D. 1875
Q7. #RAT W FEE (INC) &7 5T & R I |
A. 1805 B. 1855
C. 1885 D. 1875

Q8. Where is Maharshi Dayanand Vishwavidhyalaya established?
A. Sirsa B. Rohtak

C. Sonepat D. Gurugram
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Q8. 7l gurig fRafagaTey A FUT9=T Far Hr 7§ §?

A. fazar B. Vs

C. diefad D. I&aTH

Q9. 2017 Surajkund Mela is known as because all stakeholders have been
provided option for cashless transaction.

A. Suraj Mela B. Cashless Mela

C. Kund Mela D. Crafting Mela

Q9. 2017 {IFs AaT & A @ ST 1T ¢ FifF Tt RAuns! Ft awe Wa AaeaT F=
e g e I §

A. IS Hell B. Shererd Hell

C. &3 A D. SITEaT Hell

Q10. Haryana has invited all Facebook and Twitter users to interact with the

A. Chief Minister of Haryana B. Governor of Haryana

C. DSP of Haryana D. Chief of Cyber Cell

Q10. R & wft g I e gerd 7 & WY aradid FX & v smaAfa R gl
A. RO & FEgHA B. Rz & T=adrer

C. gRamom & r.ug. 9y D. WIEsR Al & YT

Q11. Haryana government bans consumption of at public places.
A. Cigarette B. Tea

C. Liquor D. Coffee

Q11. RN THR A FEATAF FTIET W it ¥ gfarer o9 R g1

A. FRe B. I

C. & D. &ithr
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Q12. "Pradhan Mantri Suraksha Bima Yojana" implemented by Haryana Government gives
insurance cover to residents in the age group of

A. 21-70 years B. 21-65 years

C. 18-60 years D. 18-70 years

Q12. gRATUT TR EIRT A "qeutear HaAY FRat <A e #1 31y T F AT F AT FaX @
el B

A.21-70 @y B. 21-65aw

C. 18-60 a¥ D. 18-70 a¥

Q13. The Chief Minister of Haryana has launched the mobile application to
provide information about 250 schemes and programs of 30 different departments.

A. e-mitra B. e-sewa

C. e-program D. e-development

Q13. RO ¥ FEwe A 30 faffer fsmet # 250 ANeEnst AR FEFAT F R F FEER & F AT
Ararger vitaser dtea fmar g

A. S -fAT B. &-@ar
C. -9 D. §-3ad9HC

Q14. Which two organizations will jointly inspect the oldest civilization site in Fatehabad
district of Haryana?

A. Central Bureau of Investigation (CBI) and B. Archaeological Department and Historical

Historical Department Department

C. Central Bureau of Investigation (CBI) and D. National Aeronautics and Space Administration

Indian Space Research Organization (ISRO) (NASA) and Indian Space Research Organization
(ISRO)

Q14. Fia & &Y Wrsa HYFA T { RATIN & Halerarg fora F Fad Qi wo=rar 1 wrse Fr Adaror F3?
A. FE ST s (Y & 3m$) 3R efeae fawmer B. quidea fsmar 3R ofoerfaen fasmmer

C. T STTa s (F & 3m$) 3R AT 3iaRer D. T WRIAIfeHd U8 TIF TSfATAEe () 3R
AT HITSeT (SE) SR 37ARET HTHUT HaToeT (SERY)
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Q15. Who amongst the following has contributed to Haryanvi comic poetry?

A. Baje Bhagat B. Surendra Sharma
C. Rajiv Lather D. Ali Baksh

Q15. AFfaf@a & ¥ fFuer e g7 Ffaar & 9= ArerT T ¥?

A. TSt 73T B. Iz oA

C. Trsitg o D. 37el &

Q16. Majjhima Nikaya and Divyavadana are literature.
A. Buddhist B. Hindu

C. Sufi D. Islamic

Q16. ATfsTaAT AT 3 Regaean aifeea €

A. dlg B. &g

C. ghr D. gEaIer

Q17. Which award did Ashok Bhatia get for his book 'Samudra ka Sansar'?

A. Haryana Literature Award B. Sahitya Award

C. National Literature Award D. Haryana Hindi Sahitya Academy Award

Q17. 3reliw AT Y 9l Tas "WHG FT §OR' & fAT Fla 71 (R FAar?
A. gRamoT wifger TR B. @1fgcd &R
C. T¢Iy ER D. gRarom fger Anfgcar 3repreat TEhR

Q18. Hemraj Nirgam wrote

A. Pachrangi B. Prithviraj Raso
C. Seep Ka Moti D. Jadufiri

Q18. et foetar & T #1

A. gl B. RISt I8

C. @ &1 Al D. SRl
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Q19. Which is the smallest district of Haryana in terms of area?
A. Panchkula B. Bhiwani
C. Ambala D. Gurgaon

Q19. %A F Te ¥ gRIATIN F1 & Ber e wieT AT R?
A. Fagell B. fRarei

C. 3rFaTer D. I[zaTid

Q20. Which of these minerals is NOT found in Haryana?
A. Tungsten B. Limestone

C. Manganese D. Slate
Q20. RO # 37 & T T WA AT SATAT B2
A. Earees B. T&T 9

C. Haslst D. ¥l

Q21. The most popular irrigation system in Haryana is

A. Tube well irrigation B. Tank Water irrigation
C. Inundation Irrigation D. Canal irrigation
Q21. R 1 gad AHRT B gomeh g1

A. TIF 3o & g B. & & ST & =S

C. 3Tcelaet s D. =feX fiars

Q22. Sahibi river originates in which of the following districts?

A. Rohtak B. Sirsa

C. Sikar D. Yamunanagar
Q22. wifge 7 FFafaf@a # ¥ fFw o & Awerd #2

A. Agds B. f&zar

C. @R D. FHATIR

September 15, 2017

Download from www.MsEducationTv.com

Page 6 of 27



Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Morning Session

Q23. Which dam is based on hydraulic engineering and is known as Gravity Dam?

A. Damdama Lake B. Badkhal lake

C. Hathnikund D. Anagpur Dam

Q23. Fi @1 it grERfAw sfaaRer v maRa ¥ 3 AR 87 F arer I S Sar 2
A. SHCHT 3T B. Seehel 3iTeT

C. g¥eliss D. 37TIIqR STET

Q24. Indian constitution came into force on

A. 15t August 1950 B. 26t January 1947
C. 26 January 1950 D. 15t August 1947
Q24. sy wiera Y |1 F3T ATl

A. 15 37T&d 1950 B. 26 STl 1947

C. 26 Sieladr 1950 D. 15 319T&d 1947

Q25. Which state of Indian Union has a separate constitution?

A. Haryana B. Jammu and Kashmir
C. Kerala D. Sikkim

Q25. WA Tg & fFy T H v 3rer9r Ay §?

A. g B. o1& 3R e

C. &l D. fafena

Q26. Who is the Leader of Opposition in the Haryana Assembly?

A. Shri Ajay Chautala B. Shri Charanjeet Singh Rori
C. Shri Dushyant Chautala D. Shri Abhay Singh Chautala
Q26. gRITON FeawsT A AaT F Aar HieT 82

A. Y 311 Tierer B. 4t TRursiia &g I

C. it gsad Htererm D. 4t 3179 g ieren
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Q27. What is the average temperature of Haryana in summers?

A. 30°C B. 35°C
C. 40°C D. 38°C
Q27. Frvw g # g F1 3w argATeT Rrcer gar 82

A. 30°C B. 35°C
C. 40°C D. 38°C

Q28. Which is the most cultivated spice in Haryana?

A. Coriander B. Garlic
C. Fenugreek D. Chilli
Q28. g ¥ Fad 30w fre AT A G g 2

A. afer B. g
C. #Ad D. fad

Q29. What is the famous name of Murrah buffalo in Haryana?
A. Black Gold B. Kala Dhan
C. Gold Carat D. Kala Prashadan

Q29. gRaron # 3 dta F1 9fg e FAT 7?2
A. HTT Qi=TT B. el &1

C. Mes D. Il YR

Q30. Pick the odd one out:

Eyes, Ears, Tongue, Nose, Mouth

A. Tongue B. Eyes
C. Nose D. Mouth
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Q30. JHIA FT IIA H|
I, F1l, S8, AT, T
A. S B. 3@

C. 5 D. H8

Q31. Find the analogy.

CEGI: DFHJ::EGIK: ?

A. FHIL B. HILM
C. IGH] D. HGDJ
Q31. AT &3l

CEGI: DFHJ::EGIK: ?

A. FHIL B. HILM
C. IGH] D. HGDJ

Q32. What should come at the place of question mark (?) in the following number series?
5,11, 23,43, ?, 115

A. 68 B. 73
C. 85 D. 97

Q32. farafaf@a Fear sf@an # wear et (?) F T W 47 g A1ew?
5,11, 23, 43, ?, 115

A. 68 B. 73
C. 85 D. 97

Q33. If in a coding scheme, NINE is written as 42, how TEN is coded?
A. 24 B. 36
C. 40 D. 39

Q33. T F3 #4191 # I NINE FY 42 @1 sitar § af TEN & a1 foar@r sireen?

A. 24 B. 36
C. 40 D. 39
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3244=+22412= _ +5246-+7-
Q34. 2z =2 2 2 2 2 2
A. 12/2 B. 13/2
C. 14/2 D. 15/2
32442 +22412= _ 451462472
Q34. 2z 2 2 2 2 2 2
A. 12/2 B. 13/2
C. 14/2 D. 15/2

Q35. An event has a probability of 24 /25. Therefore, the event is

A. cannot occur

C. less likely to occur

Q35. TF HeaT F ot Y HTGAT 24/ 25 §1 38T, gear

A. g g€ Fhdl &

C. Tcal & FF THTIT &

Q36. 0.00098 =

%

A. 0.098
C.1.98
Q36. 0.00098 =

%

A. 0.098
C. 1.98

Q37. Deepa bought 2 dozen pencils for Rs.100. She distributed 10 pencils. She sold the
remaining pencils for a loss of Rs.5. At what price did she sell each pencil?

A. Rs. 6.78
C. Rs. 8.45

Q37. T & 100 T9A H 2 Foier 4f¥el @I 3w 10 A die & 37 Ty ARy 1 5 A F Fhw A I

1| 38 v AF AT F fFast & a=r?

A. 6.78 U
C. 8.45 31
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B. likely to occur

D. will always occur

B. € Ohdl ¢
D. §HeT g&Il

o8]

. 0.98
. 1.098

O

@

. 0.98

)

. 1.098

B. Rs. 5.25
D. Rs. 7.50

B. 5.25 39
D. 7.50 39
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Q38. is the synonym of "DETERMINED".

A. Kind B. Brave
C. Firm D. Angry
Q39. is the antonym of "BENEFIT".

A. Gain B. Loss
C. Help D. Favour

Q40. Identify the meaning of the idiom.
"By hook or by crook."

A. Without permission B. Stolen

C. Acceptance D. By fair or foul means

Q41. Sentence given below may contain one or more mistakes. Identify the correct
sentence.
"The team complete their task just when the judge walked in."

A. The team was completed with their task when B. The team completed their task just when the
the judge walked in. judge walked in.

C. The team have completed their task when the  D. The team has completed their task while the
judge walks in. judge walked in.

Q42. Complete the sentence by choosing the correct word from the options.

The army the attempt of the invaders.
A. foiled B. promoted
C. continued D. closed

Q43. Which of the following is not emitted by radioactive substances?

A. Beta rays B. Gamma rays
C. Incident rays D. Alpha rays
Q43. At weryt § 7 7t e 82

A. drer fTor B. amaAT ot

C. 3Yfee fehgor D. 3o faor
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Q44. The mixture of sand and water can be separated by the process of

A. Evaporation B. Condensation
C. Filtration D. Precipitation
Q44. are 3R aTelt & AT Hr & ufehar g@r 3rerer fRam ST W B
A. arsdiIoT B. TEeld

C. fedesT D. a¥or

Q45. Human cell consists of chromosomes.

A. 44 B. 46

C. 22 D. 23

Q45. AT PR # FAET @ ¥

A. 44 B. 46

C. 22 D. 23

Q46. % Uec FT TATIATH 2reg TdA=Y |

gaor
A. 3TSaT B. eRTHT
C. e D. 3¢&

Q47. faw= arsg &1 Al (Rehe) aref sarsy |

gom

A. GFATA B. W

C. S Fg=T D. 9\
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Q48. ) ford FygraY #1 37w e gAY |

FIAT HTeT T o gl

A. FT T ST o Tgdal B. frdY &1 871k G T UsaTT
C. 9HsT # o 37T D. ST gl

Q49. = fad ereq FT aga™=l = |

faerelt

A. faaferar B. fadenar

C. fadferar D. faaferar

Q50. A f@ ersg FT vFaaa T |

Euce

A. =i B. =@meiar

C. arfear D. el

Q51. Fundamental accounting assumption is

A. Materiality B. Business entity
C. Going concern D. Dual aspect
Q51. 3TURH AWicheT TRV Tl

A. &itfaerar B. RIS F&ca

C. @fthg 3R efrersie aaary D. & Uge]

Q52. A company cannot issue redeemable preference shares for a period exceeding

A. 6 years B. 7 years
C. 20 years D. 25 years
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Q52. T HYel T 3¥F 3 & AT yiaeT e A9 S 7€ FT FFdh |
A. 6 a¥ B. 7 ay¥
C. 20 Iy D. 25 a¥

Q53. Which of the following is not a sub-field of accounting?

A. Management accounting B. Cost accounting
C. Financial accounting D. Book-keeping
Q53. 3IH ¥ FiT AT AFeT AW FT 39-8F 7T &2

A. UST ordieheT B. et or@ichel

C. [acda @it D. EdqTelet

gl

Q54. Cash from operations is equal to

A. Net profit plus increase in outstanding B. Net profit plus increase in debtors
expenses

C. Net profit plus increase in stock D. Net profit plus increase in investments
Q54. YuTd=T & dAHar FAAE |

A. SIacT ST TUT ST AT H TEra B. fade o1e1 T SoeRT 7 Selaly

C. fAae o qUT Tidh H Frealr D. foidel orst T foider # sy

Q55. If cost of goods sold is Rs.80,700, opening stock is Rs.5,800 and closing stock is
Rs.6000, then the amount of purchase will be .

A. Rs.80,500 B. Rs.74,900

C. Rs.74,700 D. Rs.80,900

Q55. IfY I T ATT A APIT F. 80,700, IRHAF Fiw 5. 5,800 3R 3ifa#w FeiF 3. 6000 &, aY w7 i Al
gralt |

A. %.80,500 B. %.74,900

C. %.74,700 D. %.80,900
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Q56. W Ltd. issued 20,000, 8% debentures of Rs.10 each at par, which are redeemable
after 5 years at a premium of 20%. The amount of loss on redemption of debentures to be
written off every year will be

A. Rs. 40,000 B. Rs.10,000
C. Rs.20,000 D. Rs.8,000

Q56. W fafits & 10 T93 & ¥HAeT W 20,000, 8% RBawRi ar fw, At 20% wifdgswr w 5 aut &
gfaea ¥ | Bl 9y W g f IR Y v AF a¥ aF @ # sl Jean, ol

A. %.40,000 B. ¥.10,000

C. ¥.20,000 D. ¥.8,000

Q57. A company forfeited 2,000 shares of Rs.10 each (which were issued at par) held by
Mr. John for non-payment of allotment money of Rs.4 per share. The called-up value per
share was Rs.9. On forfeiture, the amount debited to share capital will be

A. Rs.10,000 B. Rs.8,000
C. Rs.2,000 D. Rs.18,000

Q57. TF FUelt A T. 4 Wi A Y JTaieT AR FT AT o F & AT st siter garT o &, 10 73+ (g
FHATT W AR f53m 7 4m) F 2,000 AR F FHGEA FI T | 9y A AT 7T HET T 9 AT | FHIEOT T,
AR Gt T A B aRr gt |

A. %.10,000 B. %.8,000

C. %.2,000 D. ¥.18,000

Q58. Bank reconciliation statement is prepared with the help of

A. Bank statement B. Bank statement and bank column of the cash
book

C. Bank statement and cash column of the cash D. Bank column of the cash book and cash column

book of the cash book

Q58. dF gAY faver N A ¥ AR FFAT ATAT R |

A. S faaor B. S fqavor aur Ahs sgY 1 dF Hrerd

C. d% fqaror T AFhs &Y FT AFHS Pl D. ks FEY FT Soh Dol AT NS TG T AHS Ploled
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Q59. In fire insurance % of premium income is carried forward as provision for and
the balance is transferred to profit and loss account.

A. 50 B. 100

C. 25 D.0

Q59. 3T o & fifdTs 3mx &t % YTaYT F fAT M oF ST AT § 30 99 FY 137 T gifer @a #
IaRa Farsar |

A. 50 B. 100

C. 25 D.0

Q60. Accounting standards in India are issued by

A. Central Government B. State Government

C. Institute of Chartered Accountants of India D. Reserve Bank of India
Q60. RA # @1 AAF ZanT Y e S §

A. FEIT TR B. T &N

C. AR FACT SR G D. AR Rerd i

Q61. Which of the following categories is included in generally accepted auditing
standards?

A. Standards of review B. Standards of planning
C. Standards of evidence D. Standards of field work
Q61. AHTA: FFd J@T qiaT AH! # o1 § B ao1 A anforer fram smam 82

A. FHIET & HleTh B. IISTTT & ATh

C. |1eg & Hleleh D. 817 &1 & Alh

Q62. Which of the following is an inherent limitation in internal control?

A. Incompatible duties B. Lack of an audit committee
C. Lack of segregation of duties D. Faulty human judgement
Q62. sd ¥ FisT 71 Revey AR Hgaor # ve safifea aRdfiwa §2

A. 3EHIT Fied B. oi@r wlietr |fAT &1 3r3ra

C. Shcfedl & GUEHIVT T AT D. gyt Ay Aoty

September 15, 2017 Page 16 of 27



Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Morning Session

Q63. If the amount is posted in the wrong account or it is written on the wrong side of the
account, it is called

A. Error of omission B. Error of commission

C. Error of principle D. Compensating error

Q63. I et TR F1 Irad Wik A 3167 AT AT § A7 3@ AW & I vaT H @ Arar @, av 5@ FEd &
|

A. g B. el T 3fe

C. fagid #r 3fe D. wfaqRa e

Q64. An auditors engagement letter most likely would include a statement that

A. Lists potential significant deficiencies B. Explain the analytical procedures that the
discovered during the prior year's audit auditor expects to apply

C. Describes the auditors responsibility to D. Limits the auditor's responsibility to detect
evaluate going concern issue errors and fraud

Q64. TF AW WIeTF & A 99 # 30 Fua F afAer fhv e v g afw e fF I

A. 98 & a¥ & or@r qdeT & eI ¢dT 3 Fenfad B. AeawurcHs Uishan3it it sarear fSieg orar adets
SoEeT HIAGAT T TG HeT T AT TR §

C. |fhT T dI1YE STGHT & HIHA I Hodichel it & D. AT AT HYCYT 1l ST Tl Mol & o @ giefn
TIT orEm 98T & ScdRelfAed ol aiuTel & 3ccRaldcd d AfAT YT

Q65. Which of the following errors are not revealed by the trial balance?

A. Compensating errors B. Errors of commission

C. Wrong balancing of an account D. Wrong totaling of an account
Q65. 73 ¥ FiT # IR Av-waTor gERT A AL et §2

A. gfaqge Ffear B. a#TereT 1 Afear

C. @I & eI HJele D. @Td &7 ITeld JET
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Q66. An auditor should consider which of the following when evaluating the ability of a
company to continue as a going concern?

A. Audit fees B. Future assurance service

C. Management's plans for disposal of assets D. A lawsuit for which judgement is not
anticipated for 18 months

Q66. T UF ATHIG STTATT AN T&A Y FeAl Y &THAT FT Aed el I GAT TF o @1 87w F a0 @ fvw
W AR F=r aifge?
A. oI qYET Yeh B. #TdY 3TRaTdT Tam

C. gufed & fAuer & o yaee & st D. are, foraeT v 18 Fglr & fow JeanfRia 481 &

Q67. An auditor who is unable to form an opinion on a new client's opening inventory
balances may issue an unqualified opinion on the current year's

A. Income statement only B. Statement of cash flows only

C. Balance sheet only D. Statement of shareholder's equity only

Q67. AWT TdETF ST TF AT Agh & IRIAF arqqe A W O a7 7@ # 3 ¢, arqa’¥ &
W 377é AR g FaFaT ¥ |

A. hael 3T T faavor B. hdel sTehay TTed &1 faaxor
C. hael Jelel-g7 D. hael AIIURT T AT fdazoT

Q68. Obtaining an understanding of an internal control involves evaluating the design of the
control and determining whether the control has been

A. Implemented B. Monitored

C. Authorized D. Tested

Q68. 3TaRe f=or i Fasr e FI # AIA0T F FRTFeT FT Aediae F3 au1 T§ AU Fwem anfae & =
G AT @Y AT ¥ |

A. FRITTad B. f9RTY
C. yrfereha D. wifard

Q69. Which one of the following is not the objective of cost accounting?
A. To determine selling price B. To ascertain profit of each activity

C. To help in organizing D. To control cost
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Q69. 55 ¥ FIT AR AWIHA HT 337 AGT ¢ ?
A. R fraa FeRa Feer B. Ak T &1 oI ATARATTT HLar
C. 3T el H HEg el D. drTd [Rafa e

Q70. Cost sheet simply refers to statement of the cost of

A. Goods produced B. Raw materials

C. Goods sold D. Goods manufactured and sold
Q70. dTTd I9F # AT FT 0T AT FAATAT R |

A. 3catfed Arer B. &ear ATel

C. 99 91T AT D. fAfda 3k o2 71w A

Q71. Prime cost - Rs.51,000, works overheads - 20% on prime cost, administrative
overheads - 10% on works cost, selling overhead - 5% on cost of production. Calculate cost
of sale.

A. Rs.61,200 B. Rs.67,230
C. Rs.70,686 D. Rs.71,700

Q71. { A9 - T. 51,000, FFH FWRITT A a0 W 20%, TATHAF FIHTT FFH d0d W 10%, T
F90IY IcUTE dARTd 9T 5% | T F arrd F1 IRFaaT I

A. %.61,200 B. %.67,230

C. %.70,686 D. %.71,700

Q72. Sunk cost means

A. Alternative cost B. Cost incurred in past

C. Cost actually incurred D. Cost of finished products
Q72. gt AT 1 7 § -

A. dfouss dmerd B. faera # 3uerd @rerd

C. IFaq H 39T AT D. TR 3curar & T
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Q73. The consumption of certain type of ball bearing is 120 pieces per year. The price of
each ball bearing is Rs. 100. If the inventory carrying cost is 20% per annum and the cost
of procurement per order is Rs.20. Calculate the economic order quantity?

A. 10 units B. 12 units
C. 15 units D. 17 units

Q73. T ARTd YR & afer IINT A TIT 120 797 97 I & | T AF dfer SN AT FAT . 100 § | I
TEGHT Y FgAIT AT wfaas 20% 3R wfy meer yraor A AT . 20 § | 3nfF e v w1 9w w1 ?

A. 10 ST B. 12 Shr3ar
C. 15 szt D. 17 s&rsar

Q74. The process of material control involves-
A. Issue --> Purchasing --> Receipt --> Storage B. Purchasing --> Receipt --> Storage --> Issue
C. Purchasing --> Storage --> Receipt --> Issue D. Receipt --> Storage --> Purchasing --> Issue

Q74. wrHafY fa=ror A yfiFHAT F AT ghar -
A. 399 --> &g --> wiftd --> 3R B. @llg --> It --> #sK --> 337
C. &g --> #8R --> It --> Y D. 9Tt --> #3R --> &g --> 32

Q75. Which among the following is not a method for measurement of labor turnover?
A. Flux method B. Replacement method

C. Separation method D. Mechanical method

Q75. 3a# @ &l W AR 397 3mad & AGeT Y A 77 22
A. Forgg fafer B. gfazamg fJafer
C. gyayoT fafer D. A%fasa 3

Q76. The method which assumes that the changes in semi-variable costs are caused purely
by variations in output, is

A. Graphic method B. Average method
C. Least square method D. High low method
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Q76. Raftr e 75w Srar ¥ B aref-aRaelt ot # afads Ryg w7 & srseqe # wRad«l & FRoraa €,

_ wgdA g
A. ITHT e B. 3itga fafer
C. &H J31 Ay D. 3=3 fa== 3

Q77. The process of apportionment of overheads of a cost centre to its cost units is termed
as .

A. Allocation of overheads B. Apportionment of overheads

C. Absorption of overhead D. Departmentalization of overhead
Q77. 90T %eg ¥ 3T AT SHISAT & FINTAT & THTSIT $Y IHFAT FY FETATATE |
A. F98TIT &7 A& B. Ul T THTSTT

C. Il &M 3T D. Fudreadt & fasmefietor

Q78. Which among the following amounts is contained in a static budget?

A. Budgeted costs for actual output B. Actual costs for budgeted outputs
C. Budgeted costs for budgeted output D. Actual costs for actual output
Q78. 3d ¥ Fia W ufr Fifas sore & wfA gt 82

A. arEdfash H3eqe & T seifed o B. SSifed 3M3eYe & foIT aredides ST
C. goifed 313eYe & fov deifed omard D. ar&dfdsh 33eYe & foIT aredide dmerd

Q79. The costs which do not involve cash outflow are

A. Imputed costs B. Out of pocket costs
C. Replacement costs D. Conversion costs
Q79. ¥t anTd ST Y afyate anfde gt gar, FgaTe & |

A. Tiosd et B. Geehy ST

C. gfaeumae amerd D. FUIAOT oIl
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Q80. Under inflationary conditions method will show highest value of closing
stock.

A. FIFO B. LIFO

C. Weighted average D. Stores stock level

Q80. Thifasy aRfPufay & RafYr sifaer vl 1 39aaw AFa quiwh |

A. ®IT (FIFO) B. ofi®r (LIFO)

C. s 3| D. TR ¥ TR

Q81. From the following information calculate the cost of production.
Raw material consumed is Rs.30,000, productive wages Rs.18,000, machine hours worked

Rs.900.
Administrative overheads: 20% on works cost, Machine hour rate is Rs.10

A. Rs.57,400 B. Rs.59,800
C. Rs.68,400 D. Rs.64,200

Q81. fArAfafla Fa=r ¥ cuteer aAnTa 1 aRFee FX |

Fed AT FT GIG T. 30,000, 3cUEF Ay T. 18,000, FF T 777 7efier goe 7. 900
g IUTT THA AT W 20%, AN gver X 3. 10

A. ¥.57,400 B. %.59,800

C. %.68,400 D. %.64,200

Q82. Zero-Base Budgeting technique was first introduced by

A. Peter A. Phyrr B. J. Batty

C. Rowland and Harr D. J. Fred Meston
Q82. -3 Folc dohsld e ggol EaART YRH $Y 71§ oAt |

A. dIeX T, HIsX B. o, §gr

C. Uols @am gre D. 3. %3 AEe

Q83. The formula for calculating Idle time variance is
A. Abnormal idle time x Standard mix B. Abnormal idle time x Standard rate

C. Abnormal idle time x Standard time D. Abnormal idle time x Standard yield
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Q83. IWFA FIel IRAAT FT IRFeleT FIt FT BIHAT & -
A. JEHT 39T el X Aol Hag B. A TSI HIel X HIeAdh &

C.WWWXWW D.WWWXW?«I@T

Q84. In which year was Income Tax introduced in India?
A. 1850 B. 1860
C. 1886 D. 1961

Q84. sRa # forw I AT YR gIT?
A. 1850 B. 1860
C. 1886 D. 1961

Q85. The process of identifying where the goods are listed is known as

A. Coding B. Listing

C. Classification D. Categorizing
Q85. AT Fgl Yo §, I§ TgarT= $ ufFaT F FET A |
A. HISEHIOT B. gfteor

C. aaffetor D. #uftetor

Q86. Canons of taxation are enunciated by

A. Dr. Raja Chelliah B. Hugh Dalton
C. Adam Smith D. Bastable
Q86. FIUA & A garT R ¥ |

A. 3. T Jeazar B. 1% STecl

C. usH feay D. S&ea o

Q87. Which one of the following is taxable as income under the heads "salaries"?
A. Commission received by a full-time director B. Remuneration received by a partner

C. Allowances received by an employee D. Free accommodation given to an employee
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Q87. 5 A FT M T " Aaa” MF FTRANTF T A AT E ?
A. qUTHTToIeh TSRS GarT ST shaiere B. WISIGR @R Ured ariksfae
C. FHHEARY SR yred Hed D. HHURY T T I fe7: ok 3Tare

Q88. One of the primary differences between marginal costing and absorption costing is
regarding the treatment of which of the following?

A. Variable overhead B. Direct material

C. Fixed overhead D. Administration overhead

Q88. W ATea® ATTa-fAROT TUT HTAMOT ARTT-FURor F i v wrafA® 3o §, 98 Peaff@a & 9 Fas
3YYR ¥ Hafd 82

A. IREdl 39T B. YcgeT A

C. R 3eaa D. Temdfa® 3WeaT
Q89. The green revolution is also known as

A. Wheat revolution B. Forest revolution

O

C. Maize revolution . Rice revolution

Q89. sRawifd sy H N s FTaT ¥ -
A.ﬁg“aiﬁr B. asT Sifa
C. HeFaT Hifd D. TTae it

Q90. Which of the following has been specifically established to meet the requirements of
credit of the farmers and villagers?

A. ICICI bank B. Regional Rural Banks

C. State Bank of India D. EXIM Bank

Q90. sa# ¥ ¥ 3% F FuTwaT At 3R Ao F FUR Fath sewal F gl T F P Ay w3
A. 3770378 138, I B. &1 10T o

C. #RT T dh D. UfFe# d&
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Q91. The industrial sector faced the process of retrogression and deceleration during

A. 1950-1965 B. 1990-2005
C. 1980-1995 D. 1965-1980
Q91. 3iie@ P &7 F wemarAa 3R #7d F wfhar 1w & gRer 3 |
A. 1950-1965 B. 1990-2005
C. 1980-1995 D. 1965-1980

Q92. Which year is known as the year of great divide for India's population?

A. 1991 B. 2001
C. 1981 D. 1921
Q92. HRd I TIHEAT & T A eI &1 9§ FA AT ATGT 82
A. 1991 B. 2001
C. 1981 D. 1921

Q93. Mixed income of the self employed means
A. Gross income received by proprietors B. Rent, interest and profit of an enterprise

C. Combined factor payments which are not D. Wages due to family workers
distinguishable

Q93. Tafaafora i AT 3 Fr aref §-
A. EaTHY aRT 9o el 3T B. 3¢ &1 fhram, saret 3R s

C. GFATAT HReh AT [oeral g gl fohar ST Hehel D, IRER & HIHIRT & HROT Hotgdr

Q94. National income differs from net national product at market price by the amount of

A. Current transfers from the rest of the world B. Net indirect taxes

C. National debt interest D. It does not differ

Q94. I 7Y, IR AT W Ager TSET 3curg ¥ TR T AT g § |
A. faRa & 3= Rt & dTe] AT B. fo¥arel wRiaT &Y

C. IS HOT AT D. Ig 3e19T 18T giar
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Q95. Which is the first order condition for the profit of a firm to be maximum?
A. AC = MR B. MC = MR
C. MR = AR D. AC = AR

Q95. TH FT AT HARdH FA F AT ggell v o FAT 82

A TH = TH IR B. tTH €l = TH 3}

C. TH 3[R = T 3R D.TH = TR

Q96. refers to disposal of public sector's units in equity in the market.
A. Globalization B. Privatization

C. Disinvestment D. Liberalization

Q96. &1 37 FIHRY AT Y sHEAT F TR F wEaT F g FET |

A. JRETHTOT B. fsfieor

C. fafeaer D. 3gRIeh0T

Q97. The price elasticity of demand is defined as the responsiveness of

A. Price to a change in quantity demanded B. Quantity demanded to a change in price
C. Price to a change in income D. Quantity demanded to a change in income
Q97. Hiar #Y AT TATEUAT HY #1 srsyfrarelierar & w9 & afenRa frar smar g |

A. AT T AT T I YA A IRaTA B. H1eT &I 315 FATAT ¥ AT A IRadT

C. AT § 31T # gRad D. H9T HT I JAET A 31T H IR

Q98. Shareholders are treated as creditors for the amounts they paid on the shares they
subscribed to under the -

A. Business entity concept B. Owner's entity concept

C. Conservatism concept D. Cost concept

Q98. IAURHT Y 37 TR F fAT AR AT S1ar & Forw Tl 7 speraret segiar ¥ AR W fvar & Foretawr siererer
3egiel 3UF 3HaeTd R o1 -
A. FRIERT Tdcd ST TTIROT B. ATfole &7 Tdcd JTERUT

C. TTEIUT T 3[GeROT D. deTd 3aYRUT
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Q99. Of most, relevance in deciding as to how or which cost should be assignhed to a
responsibility centre is the degree of which of the following?

A. Avoidability B. Causability

C. Controllability D. Variability

Q99. Iz ARy At # fF TF Feaafica Fow F F4 IFR Fier € AW FHARAT F¥ T ART, FAF F Fhew @y
fRwer waifts daa ¥

A. gRgreNear B. sofar

C. z=oiar D. sRad=hzar

Q100. Which one of the following statements is wrong in relation to the relationship
between AC and MC?

A. Both AC and MC are calculated from TC B. If AC falls, MC will rise

C. If AC rises, MC also rises D. For the minimum point of AC, average cost is
equal to marginal cost.

Q100. T.. 3R .. F fiT7 F U F ATHS & 5974 § FIT T FIS Tod &2

A. T. 3. 3R E. A e FT aReers LAY, ¥ fRar Srar . B, e v S PRar §, O v 3| 38w
g

C. If¢ T.dl. W 31 g, df TA. . ff I 3391 D. T8, & getawn feg & faw, sttaa o, daeas
AT & TATA &
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Q1. Bodh Gaya where Buddha got his enlightenment is in

A. Odisha B. Bihar

C. Uttar Pradesh D. Karnataka
Q1.mmaﬁgaafrmﬁqﬁ§'§aﬁ, 73

A. 33rar B. fagr

C. 3cal 9e2r D. Felcdh

Q2. ISRO successfully launched a record of satellites from PSLV-C37 in a single
launch.

A. 96 B. 154

C. 64 D. 104

Q2. WY (ISRO) & t& Al dfew § PSLV-C37 ¥ 39T FY WHAATAS dAled Fh T 74T PifciaArsT
TR faRami

A. 96 B. 154

C. 64 D. 104

Q3. Chhatrapati Shivaji Terminus, a UNESCO World Heritage site, is in

A. Ahmedabad B. Vadodara

C. Nagpur D. Mumbai

Q3. saufa Rrarsh effew, & gaww (UNESCO) fea eries ¥ua 72
A. 3gHETETE B. @ster

C. aANTR D. Hsg

Q4. is the Union minister of Commerce and Industry.
A. Suresh Prabhu B. Maneka Gandhi
C. Smiriti Irani D. Vijay Goel

Q4. HErT arivrea 3R e A4 §

A. XA 98] B. Haiehr amiely

C. #7fa &= D. fasg airer
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Q5. 'Sharafabad’, the town founded by Mughal Emperor Alamgir II, is presently known as

A. Faridabad B. Bahadurgarh

C. Hisar D. Mewat

Q5. I FATE TR gl ZarT TURT "SRIeEwRE H addA= & AT ¥ AT ST &
A. ®liersTe B. SEqUTG

C. fgER D. Fard

Q6. The Commission was set up to determine the boundaries of Punjab and
Haryana.

A. Sarkaria B. Joseph

C. Shah D. Nariman

Q6. goe 3R g Hi WATH FI AUIRT T F AT YT Y TATGAT F1 7§ A

A. TIHIRAT B. Sid%

C. g D. aA3HAA

Q7. Who was the first Chief minister of Haryana?

A. Bhagwat Dayal Sharma B. Rao Birender Singh
C. Bansi Lal D. Banarasi Das Gupta
Q7. gRATOT & gy FEHA FieT 4?2

A. HITa &aTeT ST B. 19 oy g

C. g8 dref D. SAREHT &I Il

Q8. Before independence, timber market of Yamunanagar was famous by the name of

A. Garibpur Mandi B. Badalpur Mandi
C. Abdulhapur Mandi D. Nawab Mandi
Q8. 3TITEl & Ugd, IHATTIR FT AHII TR & a1 ¥ v

A. TSGR H B. STeerqX HY

C. 3TsgeaT R HSY D. Fare Her
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Q9. Chief Minister of Haryana announced Tirtha Darshan Scheme for

A. Children of Haryana B. Senior Citizens of Haryana

C. Youth of Haryana D. Economically Weaker Section of Haryana
Q9. gRToT ¥ FEHE A F & fov e geier st i avom )

A. gR=mom & s B. gRIOm & aRss AFTReS

C. gRamoT & gar D. gl & e §7 F FFASR F97

Q10. Who amongst the following singers was born in Haryana?
A. Alka Yagnik B. Shubha Mudgal
C. Bappi Lahari D. Sonu Nigam

Q10.ﬁmﬁﬁamﬁﬁ@ﬁvmmmgﬁmﬁ§mm?
A. 3TCTehT TTIeTeh B. [T AT

C. oY oTgdr D. #ie folarer

Q11. Who amongst the following Chief Ministers of Delhi was born in Haryana?

A. Madan Lal Khurana B. Sheila Dikshit

C. Arvind Kejriwal D. Sahib Singh Verma
Q11. Reeh & frafaf@a qeasfyal & & frw e &1 stew gRamon & gam ar?
A. FE dlTel G B. efferm §faa

C. 3Rfdg aordiare D. wifew fiE a#t

Q12. Haryana Government has setup an online system "Sex Ratio Monitoring Dashboard" to
monitor sex ratio in district.

A. Panipat B. Hisar
C. Sonipat D. Panchkula
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Q12. R TWER F o & fofer sreqarar Y fowreht & fare " ffar IR Aforefier Sweis” e o
TS RAFeH T TATI=T A §

A. drsiad B. i

C. gisiad D. Jagell

Q13. HAREDA stands for

A. Haryana Renewable Energy Development B. Haryana Agricultural Resources Development
Agency Association

C. Haryana Afforestation and Development D. Haryana River water and Ecology Development
Agency Association

Q13. TE.T.HN.E.8.T FT T A 2l

A. ERITT Regueel Tefoll STeTee Toret B. gRAT0T valieheeel RERE Saeiusie vafawere

C. gRImoT THERTIA U3 3qeude Toidr D. gRamom Rax arex Us shidisl Saduaic TafauereT

Q14. Which mobile application is launched by Haryana government to create awareness
among pregnant women?

A. Mamta B. Kilkari
C. Bachpan D. Bal Dhan

Q14. weiach Afyenat F dr SmerERaT da1 Fo F fAT FRAOT TFR GERT Fer AT AT veelrwereT O At
x4

A. AHAAT B. forerery

C. §99 D. el YT
Q15. Pandit Laxmichand is a famous of Haryana.

A. Litterateur B. Folk Artist
C. Folk poet D. Folk Singer
Q15. 9fza wadiag gRaon F e ulRg gl

A. FIfgcTsR B. @i ek
C. <% &fa D. di& M
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Q16. Shri Murar Lal Sharma (Neeras) is famous for his writings for the

A. Children and young B. Travellers to the Punjab and Haryana region
C. Folk songs D. History of Haryana

Q16. it IR aier AT () ¥ AT I3 AW F AT 9Rg T

A. g R gar B. dotre 3R gRamom &3 & 3ner arer IrEr

C. atw MNa D. gRamom & sfagrr

Q17. created the novel form of Jasrangi where a male and female vocalist sings
different ragas at the same time.

A. Maharaja Jaywant Singh Waghela B. Pandit Jasraj

C. Bade Ghulam Ali Khan D. Ustad Gulam Khader Khan

Q17. A FEGN F g T FT fAATor AT et vF v AR Afen I v € wH F rewer-srerr
T I

A. FERTST Siaad &g arerel B. 9fsd STERTST

C. 93 [el1d 37ell Wief D. 3¥dIe ITH HTe Wied

Q18. The glory and strength of Thaneshwar of Haryana was discussed in the book written
by the Chinese traveler

A. Hiuen-Tsang B. Fahien

C. Mu-Wang D. Zhang Qian

Q18. =fi= It garT o 1§ qras A gRATOT & yraeaw A Afgar v afFd o =t Fr 1§ o
A. EdeT-caTT B. wifgameT

C. Fg-amr D. ST feharet

Q19. Where is the biggest animal husbandry farm of Asia situated in Haryana?
A. Faridabad B. Bhiwani
C. Ambala D. Hisar

September 15, 2017 Page 5 of 28



Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Afternoon Session

Q19. TRIAT FT TR T37 FeITer Bt gRATOT F et R 82
A. BlgETE B. fAar

C. 3F<TelT D. fgar

Q20. Which district of Haryana has the largest forest area?
A. Panchkula B. Gurgaon
C. Ambala D. Karnal

Q20. RN F R ek & W 997 oo & §7?
A.tiagw B.?l;IB?TiH

C. 31&dTell D. &¥dTel

Q21. Which district in Haryana receives the lowest rainfall?
A. Gurgaon B. Sirsa
C. Karnal D. Panipat

Q21. gRIwn ¥ fFE G # @ Fa aRT AN &2
A. I3 B. f&zar

C. STl D. g=iad

Q22. Which National Park of Haryana is situated at the Shivalik hills?

A. Shikargah Park B. National Park of Haryana
C. Sultanpur National Park D. Kalesar National Park
Q22. gRATOM FT FieT AT AeraTer UrF, Rarforsd i ggIFal w fya &2

A. RIFREIG 91k B. AA2TeTol UTeh 3% gRATOT

C. FodleqT #ieleTel 9T D. HTIEN Aol UTeh

Q23. Which of the following countries has set-up a horticulture project in Haryana?
A. Sri Lanka B. Australia

C. Israel D. Iraq
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Q23. fArafaf@d # ¥ fFw 3o & eI # IRTEE R[S F T Fr E?

A. HreiehT B. siteeforar

C. Sosd D. 3U&

Q24. can call joint sessions of two houses of Parliament.
A. President of India B. Speaker of Lok Sabha
C. Governor D. Prime Minister

Q24. TS & &Y Weal & HIFA T HT IHTETTT T Fhel g1

A. 9Rd & Trsgafa B. olleh {1 3regeT

C. Tsg9rel D. WeITIHA

Q25. Who is the first law officer of the Government of India?
A. Attorney General B. Chief Justice of Supreme court

C. President of India D. Prime Minister of India

Q25. R TFR FT Ygall F[T A AFRT FeT 82

A. 31T STeRe B. A FIE & H&F =ararefer
C. ¥IRd & Tsgyfd D. ¥Rd & TTIHAT

Q26. Haryana legislative Assembly has_ __ members.

A. 85 B. 92

C. 87 D. 90

Q26. RO Rt wam & weEd §

A. 85 B. 92

C. 87 D. 90

Q27. Haryana's state tree is the

A. Banyan B. Peepal
C. Mulberry D. Ashoka
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Q27. gRATOT F1 TSI AT B
A. ST B. dioer
C. & D. 3mieh

Q28. The rating System for Green Buildings of Government of India is

A. GRIHA B. REUSE
C. GREEN D. ECDC
Q28._ HRd &R & M7 RAfesT & faw W Reew §1

A. T B. Rygsr

C. fia D.gdrgrar

Q29. Thread and cloth prepared in Bhiwani mill is exported to which countries?

A. Bhutan and Pakistan B. Arabic Countries

C. China and Nepal D. European Countries
Q29. ¥ &er # o fAd & IR Fr 71w amet 3tk F92 F1 AT fFAr STar 82
A. sfeTet 3R arfehedret B. 3ReT &

C. et 3R AAdrer D. YT &er

Q30. Pick the odd one out:

Goat, Sheep, Giraffe, Camel
A. Goat B. Sheep
C. Camel D. Giraffe

Q30. JHIA FT IIA H|

THY, 93, o, e
A. IR B. 9T
C. 3¢ D. fS%
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Q31. Find the analogy.
BODQ: LYJW::CPER: ?
A. KMXZ B. KXIV
C. Ywod] D. LIYW

Q31. WA gl

BODQ: LYJW::CPER: ?
A. KMXZ B. KXIV
C. YWL] D. LJYW

Q32. What should come at the place of question mark (?) in the following number series?
2, 6, 14, 30, ?, 126

A. 98 B. 76

C. 62 D. 54

Q32. FFfaf@d aear H@ar # yea Ree (?) F T 9T #7471 g1 AR T?

2, 6, 14, 30, ?, 126

A. 98 B. 76
C. 62 D. 54

Q33. If in a coding scheme, HEAT is written as GDBU, how will BOIL be coded as?
A. STVU B. CDOP
C. ANIM D. TUMN

Q33. IfY v F13 #9T #, HEAT FI GDBU @ i1ar 8, af BOIL ! F1 @ sTeen?

A. STVU B. CDOP
C. ANJM D. TUMN

Q34. Find the value of X in the following equation:

5x10-VX =25
A. 625 B. 750
C. 825 D. 950

September 15, 2017 Page 9 of 28



Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Afternoon Session

Q34. Rrafaf@a gdwIor & X F71 A AFe:

5x10-VX =25
A. 625 B. 750
C. 825 D. 950

Q35. Chitra rolls a die. What is the probability that she gets a number less than 2?

A. 0 B. 1/6

C. 1/3 D. 1

Q35. T T T Fehelt 1 3W 2 ¥ FA &I e Y fhae wsiaar 82
A. 0 B. 1/6

C. 1/3 D. 1

Q36. 20% more than Rs.150 = Rs.

A. 160 B. 170
C. 180 D. 190
Q36. 150 T9 & 20% 3+ = T

A. 160 B. 170
C. 180 D. 190

Q37. The loss incurred by selling a table fan is Rs.300. Find the loss percentage if the cost
of the table fan was Rs.3500.

A. 9.50% B. 8.57%
C. 7.20% D. 6.70%

Q37. U &a thet IUFT 300 ¥ HT THAI T §1 I el theT Y AT 3500 & oY Y Fctr wfever fware gam
2

A. 9.50% B. 8.57%

C.7.20% D. 6.70%

Q38. is the synonym of "ordinary".

A. Uncommon B. Traditional

C. Common D. Personal
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Q39. is the antonym of "friend".
A. Pal

C. Helper

Q40. Identify the meaning of the idiom.

"A ray of sunshine.”
A. Something that is warm to your heart

C. Someone or something that makes you feel
happy or hopeful

B. Enemy
D. Student

B. Someone who makes things better for you

D. Someone who cares for you

Q41. Sentence given below may contain one or more mistakes. Identify the correct

sentence.

"I having tea and sandwiches to breakfast before going to school.”

A. I had tea and sandwiches to breakfast before
going to school.

C. I had tea and sandwiches for breakfast before
going to school.

B. I having tea and sandwiches as breakfast

before going to school.

D. I had tea and sandwiches as breakfast before

going to school.

Q42. Complete the sentence by choosing the correct word.

Heavy rains

A. Was spoiling
C. spoil

Q43. The rays of light always travel in

A. Straight lines

C. Zigzag lines

Q43. YFTer Y fFor gaem H gram A §
A. drelr T@r

C. foerster dar

September 15, 2017

(spoil) our plans to hold the meeting in an open ground.

B. spoilt

D. were spoiled

B. Curved lines

D. Distorted lines

B. gATER @I

D. fashe Y@r
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Q44. The only non-metal that is liquid at room temperature is
A. Mercury B. Bromine

C. Phosphorus D. Potassium

Q44. THATT THT -4 & S FAT ATTATT T e 3aeT # @ ¥
A. ORI B. Mt
C. BIERPRY D. QiR

Q45. Plants absorb nutrients mainly from

A. Sunlight B. Air

C. Sail D. Rain drops
Q45. T 7ET ¥ @ ¥ A Feal F sraafa Fa

A. G T JehTer B. gar

C. fad D. aTRer T &g

Q46. % Uec FT TATIATH 2reg Tdq=SY |

Crc)
A. IR_geaT B. fear
C. §s1 D. ST

Q47. faw= arsg &1 Rl (Rehe) aref sarsy |

ARFH

A. QQW}TIFT B. ggol

C. 3id D. anfEdr
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Q48. ) ford FygraY #1 37w e gAY |

e i avg W aga=n

A. O e ¥ 1 @ B. & fAsmst g
C. REegeagie gier D. SHJS dgH el
Q49. Y fa@ Usg FT THaad T |

T

A. IEAT B. T

C. {gdr D. T&ar

Q50. Y fad eree 7 agaas sard|

wsT

A. g3 B. =317

C. =3 D. =rar

Q51. Accounting of inventory is done as per

A. AS 3 B. AS 5

C.AS 2 D.AS 6

Q51. FEGHET FT AWl & TR frar STar ¥ |

A.TTH 3 B.Ttwg 5
c.uug?2 D.TTH6

Q52. Intangible asset is:

A. Vehicle B. Plant and machinery
C. Goodwill D. Furniture
September 15, 2017 Page 13 of 28
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Q52. 3t uRwfed &t
A. arga B. 37 tg #FAi=lr

C. 9@ D. BT

Q53. Pooling of interest method is followed in which type of amalgamation?

A. Nature of purchase B. Nature of demerger
C. Nature of merger D. Nature of seller
Q53. FH YR F AR # Ra vaareor At 1 sreqavor frar smar 82

A. T HT Jpfd B. et & %al 1 Uepfd
C. faeraet T gepfct D. fashar &1 FaoTa

Q54. If purchase of Office Furniture is debited to the Merchandise Stock Account instead of
Property Account, such an error cannot be disclosed by Trial Balance as the amount is
posted to the correct side but in wrong account. Such an error is known as -

A. Error of Commission B. Errors of Omission

C. Errors of Principle D. Compensating errors

Q54. IR} FRTET F FeAl=R A1 FlE F) Fufed A F TIT W AOoTF i T & a3 T AT Jar ¢ v s
YHR Y Terclt AT THTOT ZGRT Yahe A1 g1 9Tt & Fifr TRy i 3 var & Afeet arera @ F sremoram & 1 ¥ A
R FgaE -

A. FHII Fr I B. 8{el-Tel
C. fargid #r 3fear D. wferqEe Ffear

Q55. SLR stands for:

A. Standard Liquidity Ratio B. Statutory Liquidity Ratio
C. Statutory Liquidity Reserve D. Statutory Limited Ratio
Q55. TH.UA.IK. & [AFR §:

A. TS RfFaR RE B. Reged ffFafzdr my
C. Ryl fafFafsdr Red D. ®egell faffAes Ry
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Q56. Profit prior to incorporation is transferred to

A. General reserve B. Profit and loss account
C. Capital profit D. Pre incorporation reserve
Q56. [ATHAT @ qgar & AT FY # siafia FFarsmar ¢ |

A. FTHTT JRETOT B. o g gifer @rar

C. qofiard efret D. q&-foers=t yretor

Q57. Cash and cash equivalent include:

A. Long term investment B. Over draft

C. Debentures account D. Short term investments
Q57. 7% 3R 7+ FAIeT # WA §:

A. EreiereieT faer B. 3flaRgie

C. fe=R @rer D. 3reqarele foiaer

Q58. The purpose of cost accounting is to provide information for -
A. Preparing costing Profit & Loss A/c B. Cost control

C. Locating factors leading to wastages and losses D. Assessing the profitability and financial position
of the firm

Q58. FFTA AW FT 39T FHS AT FIAT Y&TT FIAT § -
A. ST o197 g gTfey TWTaT 3R e B. orTd f@g=or

C. 3qfrse wa il # aRonfAT giet arel &RepT &1 aar D, %o T amersiear 3R faccar Feufa &1 Heaishet e
CCic

Q59. In marine hull % of premium income is carried forward as provision for and
the balance is transferred to profit and loss account.

A. 100 B. 50

C. 25 D.0
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Q59. T oraT # % NIATH 3T FT I F T F 3 F 7 AT & 3T AT F A7 T e @ FH
srafa T smar ¥

A. 100 B. 50

C. 25 D. O

Q60. A change in the estimated life of asset which necessitates adjustment in the
depreciation is an example of

A. Prior period item B. Ordinary item

C. Extra ordinary item D. Change in accounting estimate

Q60. TREufeT F wFFfaa Shaaare # aRada, fSrwd FRT Aeagw # AT AETF & AT &, T
3ETET ¥ |

A. qaTafer #g B. WTUROT Ae,

C. TR HS D. S@ieheT TTehelel H IRA

Q61. Among the following who is not eligible to appoint a CA of a Company?

A. Proprietary firm B. Partnership firm
C. Body corporate D. LLP

Q61. 37H { FIeT vF Fuel # WU, FAgFa w1 F v a7t 82

A. Tarfica v B. @Sl B

C. #aRe e D. Ta.TAA. 9.

Q62. Tenure of an auditor in a Company, if the Annual General Meeting (AGM) is adjourned,
will be over

A. Only up to next AGM B. Appointed for the life of company

C. Three years D. Only after completing the adjourned AGM
Q62. 3k aiffs wwea dox (v.i.ua.) Tufda i J1et §, o Fuel 7§ @1 TeTw F1 FREE AT
g |

A. &dd 33Tel U.SL.UA. d& B. Yl & Sfiaetehrel & T fargera

C. i a¥ D. shad TIFPT U.S.TH. AT gl & 9
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Q63. Error of commission means:
A. Wrong totaling and wrong posting B. Capital item treated as revenue

C. Not recording a transaction D. One set of error nullify the other set of error

Q63. FHtereT i qfR F e &

A. SiTS ST 3 JTelcll T ITert gfafse B. GofeTel #Hel &l IeTed He HTeT =il

C. Todl AeT-Cf T Eot o el D. Teh Yo T Telcl GaRT GAY FehY T Telcll T AT
HIeAT

Q64. is an activity carried out by the staff of the organization to meet the

management's requirement of information.

A. Statutory audit B. Internal audit

C. Cost audit D. External audit

Q64. qE FIAFATT ¢ FOF WIS F TG GART TG HY FAAT Y HTARIAFAT FT T FA & forw fBxam swar

gl

A. Tifafe or@r adrer B. 3fidReh or@r adrat

C. dRId i@ airer D. 9183 o Er gdieT

Q65. Auditor is not responsible for
A. Safeguard of asset B. Expressing opinion

C. True and fair view D. Reasonable assurance of free from
misstatement

Q65. 3@ TaTs & fore Scavgrt g g |

A. aREafcaar $r geatm B. faR sgard &t

C. g=dr 3k 3R e D. fAgrhysT & FHerd W= 1 3T ITearde

Q66. In auditing most of the time, the auditor deals with type of audit evidence.
A. Conclusive B. External

C. Persuasive D. Internal
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Q66. or@r qdiat A, A AT orEr TaTw YR FT A@T 98T T8 & 1Y SqagR FIaT ¢ |

A. faegaraas B. sT&dr

C. yITH D. 3dReh

Q67. deals with evaluation of transactions by test of details of transactions and
analytical procedures.

A. Compliance method B. Substantive procedures

C. Test of control D. Comparative method

Q67. A-3T Ta ReavoreAs ufkanat & saR i e @Rt A9-ae F Hediwa @ gafa |

A. 3tearert fafer B. #Hifers ufsrame

C. faz=or &7 gdiator D. Jeircae fafer

Q68. Type I audit reports are issued by service provider auditor if the

A. Internal controls are designed efficiently and B. Internal controls are designed effectively.
operating effectively.

C. Internal controls are operating effectively. D. Internal controls are designed efficiently.
Q68. a1 YETaT el WiHvs aNT YHR-1 At A@r giem R s i Jreh &, I

A. aRer RAIA0T &7 3 PFeq wardy <o7 ¥ IR Far B. 3MdRes fAI=0T &r 31ffehed THTEY 391 ¥ IR fhar
I § 3R 3 wardY &er @ vt g I ¥

C. 31aRer =TT GHTET o1 ¥ w=fold g1 D. 3idRes AIH0T RIeTH &9 ¥ 31fAdiead gl

Q69. Material, labour and expenses are classification of cost as per

A. Behavior B. Nature

C. Variability D. Basis of element
Q69. I, 4H vd =y & HTAR AT & Fafteyor § |

A. S¥dgRR B. Tad1a

C. aRadsiraar D. FRF & UR
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Q70. Value of sacrifice made in accepting an alternative course is called

A. Opportunity cost B. Replacement cost
C. Imputed cost D. Discretionary cost
Q70. dwfous ATt FFR F A T 7T =TT F Ao AN Fead |
A. 3T AT B. gfaeardst arerd
C. @fvsd «rrd D. fagerefis amera

Q71. A location, a person, an item of equipment or a group of these for which cost may be

ascertained and used for the purpose of cost control is known as
A. Profit centre B. Responsibility centre

C. Cost unit D. Cost centre

Q71. ¥ud, SAFd, ITFF HY AG AT ST WAF o v anrd sffaRae 6 o1 awdt § i S seaa

AN T & wAsreTe fRar S ¥, 39 FETE
A. O Feg B. 3caelicd hog
C. dRTd 518 D. dRTd dheg

Q72. Fixed cost per unit is:

A. Fixed in nature B. Variable in nature

C. Semi variable in nature D. Non variable and non fixed
Q72. vfa s&ré PuR et g &:

A. TaeTT § TR B. Fasrd & qRadt

C. Tasra & -9t D. 3r9Radf vd iR

Q73. Automobile workshops, interior decoration, etc usually follows

A. Job costing B. Batch costing

C. Contract costing D. Operating costing

Q73. AT aHeTT Y HidaRks Forae nfe F qrAeaa: FT HTEIOT BT AT R |
A. S areTa ferefRor B. o7 @mTa forefRor

C. & arerd faefRor D. JaTe drerd ferefRor

September 15, 2017
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Q74. JIT purchase stands for:

A. Just in to B. Just in time
C. Job in time D. Out time
Q74. 3.315.8. F7 # 3.3E.&. T OOF 79 &

A SEECFAT B. ST 31 TIBH

C. Siid &7 T8 D. 33c <i8A

Q7_5. In , each consignment of material purchased is identified separately as to its
price.

A. Specific identification price method B. Base stock method

C. Simple average method D. Realizable price

Q75. #, @i 71§ el & g AR AVOT FY IFH AAT F T H AT  IgIAT AT |

A. fafrse sfafReses fraa [ B. 3muR i+

C. e 3aa fafer D. a¥el-AY HIAT

Q76. Two approaches of material handling cost are:
A. Opportunity cost and labour B. Landed cost and overheads

C. Machinery handling D. Transition overhead

Q76. Tt ESRAT AT F & Tfeewor §:
A. 3EET AT Ud A B. i &I #IeTdl Ud IWIedd

C. Ay i gsfoler D. ThHUTHINT FUTT

Q77. Time which is inherent, unavoidable and uneliminated is called

A. Abnormal idle time B. Idle time
C. Normal idle time D. Overtime
Q77. THY I afdfed, e sk safaaaair &, FgAATE |
A. 3ETHT fATSHT el B. [AfSwa el
C. gAY fAHT Frar D. FHAIR
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Q78. Formula for calculating labour turnover as per separation method is:
A. Number of replacement / average labour force  B. Number of separation / average labour force

C. Number of separation + number of D. Labour force / Number of Replacement
replacement / average labour force

Q78. guFwIor R & 3egar 497 fgarad wRefoa w3 #1 oeiar e
A. JfadTas T T&aT / e 537 gof B. UFhOT T HEAT / I 4 oo

C. GUFHIUT i FEIT + FaeAIel H F&ar / 3 7 D. 437 gof / Gfaemae i gear
EC]

Q79. is systematic evaluation of the performance of employees.
A. Job evaluation B. Labour productivity

C. Merit rating D. Attitude assessment
Q79. FHANAT F Fri-favares F1 sqafeyd qeaiwa § |

A. FE Hediee B. A 3cdTeehdr

C. 0T Hofiref D. 3iffigfcd Hearehat

Q80. Total of all indirect cost are called as:
A. Overheads B. Prime cost

C. Variable cost D. Semi variable cost

Q80. H3fY WaT AN & FI F Fed &
A. 3T B. #{el et
C. gRadt omerd D. 3-gRadf arerd

Q81. Capacity of plant which is expected to be utilized over a long period based on sales
expectation is called

A. Actual capacity B. Idle capacity
C. Practical capacity D. Normal capacity
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Q81. R A Y F YR W, ot aftr & e v e e 3 3rfda @4 Ay arHar F FEA D
|

A. arEaides &TAdr B. faTSwar atoar

C. TIIagIR &THdr D. FAT &TAdT

Q82. seeks to recognize the movements and flows of cost within the firm.

A. Non integrated accounting system B. Control system

C. Integral accounting system D. Efficiency system

Q82. B # dera & Wad«l AR vaml # FAARATTT w3t F faw HIATE ST 7 |

A. IR TR @lehel JOTTell B. fag=or gutelr

C. 3fIHTST Sr@rehet JOTIT D. G&TeT JoTTelr

Q83. The condition of increasing the contract price due to the unexpected loss caused to
contractor by increase in price of materials wages are

A. Escalation clause B. Surplus clause

C. Margin clause D. Cost plus clause

Q83. TR AR FGY Hr FAc # TN ZIRT SHaR H g8 HTAH I F FROT 3F Y FrArd F FQheadt H
e (A

A. SGIcail @Us B. 31Ty @us

C. AfSi=T @Wus D. ¢ETd S @Us
Q84. Income tax act came into force in

A. 1962 B. 1961

C. 1956 D. 1971

Q84. 3T X fafags af & ey R ar |

A. 1962 B. 1961

C. 1956 D. 1971
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Q85. Speculation loss can be carried forward up to

A. 4 years B. 8 years

C. 5 years D. Cannot be carried forward
Q85. ITATT F FROT g5 Ffar T 3T o ST AT FFaAT S |

A. 4% B.8a¥

C.5a¥ D. 31T &1 of ST ST Hehell

Q86. Ms. Aishwarya sold a BMW car for Rs. 80 lakhs, which was used exclusively for
personal purpose. The car was acquired for Rs. 50 lakhs. What is the capital gain to be
taxed?

A. Rs. 30 lakhs B. Rs. 20 lakhs

C.Rs. 0 D. Rs. 10 lakhs

Q86. Tt WeaAT & T. 80 T H YA A.UA.3qeY, FR A7 & FwFT FEAATT Faer sl wAvorer & forw fram Srar
aT| $6 FR 1 . 50 ar@ F ot B arm o) #3127 Jeftera afewr fraeht & 2

A.%. 30 dt@ B. 3. 20 o@

C.%0 D.%. 10 o™

Q87. Penalty for failure to keep, maintain or retain books of accounts u/s 44A of income tax
actis .

A. Rs 25000 B. Rs 50000

C. Rs 2500 D. RS 5000

Q87. Imaa HAFAIH At URT 44T F g AWT IRV FI TR, HATETOT FA AT YN FA F Awer @i
T SATAT AT ST § |

A. %. 25000 B. ¥. 50000

C. %. 2500 D. . 5000

Q88. TDS as per income tax act implies:
A. Tax collected at supplier B. Tax contributed at source

C. Tax deducted at source D. Tax computation at source
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Q88. I F & IJUR A.9).0w. g
A. Gfciehdll EaRT ThfId X B. FId W f&am ram &
C. IId W el I-™T HT D. 9d 9 gRehfold

Q89. Which one of the following is the correct statement?
Service tax is/an-

A. Direct tax levied by the Central Government B. Indirect tax levied by the Central Government

C. Direct tax levied by the State Government D. Indirect tax levied by the State Government

Q89. 5 ¥ Fi T FUT T 8?

JarF T -
A. FEIT IR GaRT oRIRT STt aTell FedaT B. Sheald TR GART S3MMAT SiTel dTell URIET T
C. TS G GaRT oETT SfTel aTell FegaT &l D. T §IhR GaRT W97 STl aTell TR1eT &

Q90. In India the tax proceeds of which one of the following as a percentage of gross tax
revenue has significantly declined in the last five years?

A. Service tax B. Personal income tax

C. Excise duty D. Corporation tax

Q90. ¥R # X & wItT, wH & vk, Foha FT AoFT F Ifawd F ¥ & ¢, Ao oiw auf & sed@dg 7 @
firrae an$ &, as FAT 82

A. gar & B. @<l 3ma aX

C. 3cUTe o D. faere &x

Q91. Indirect material cost is a part of which of the following?
A. Prime cost B. Factory overhead cost

C. Chargeable expenses D. Written off expenses
Q91. TRiaT WA AN SR ¥ FFwwenr s1or § ?
A. Hel dTeTd B. ®RUIEAT 3WIeTY AT

C. Y9R-9Y T D. §2 @Td H 3T 90 I
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Q92. Which among the following have not contributed to promotion of FDI in India?

A. Setting up of Foreign Investment Promotion B. Setting of sectored caps for investment.
Board (FIPB) for prior approval of FDI which
cannot be routed through automatic route.

C. Allowing FDI from Pakistan to enter the D. Enactment of Foreign Exchange Management
country. Act (FEMA).

Q92. sRd & Th.AN.ME. F Tada F iy g4 ¥ fFaer Ao w1¢ W@r ?

A. TH.3.3S. & qd 3Tl & fov fadel der dader B, der & fow Qees ey $Hr wuroeTr |
S (.35, 9r.&Y.) Fr TUTIer, T Taafod AT &

SRT FET AT ST Gehar T |
C. UTfhEdreT ¥ UH. 3.3, T 22 7 Jaer et & fav D. faeeh RfAaT ysus A (vh.s.wa.T.) #r
AT | AT A |

Q93. Self Reliance in the economic context implies that a country:

A. Meets its demand for all goods and services B. Exports some of its goods but does not need to
from its domestic production. import anything.

C. Has sufficient foreign exchange reserves to buy D. Meets its demand for all vital goods and
all its needs. services from its domestic production.

Q93. anfdwF aidew # rew-feRar 59 ara W A & @ for der :
A. T8 AT 3R Qa3 T 39=A AT 39 TRl ScqleT B, 39w $© Al T AT Y § olfehet 39 Fo o

QAT S | AT Ft T T AT I8l
C. 39el T HTARISATHT HI BGel & foiw gATed fagel  D. Tl rcaraedes ATel HaAT3HT I 3TeA AleT 3797 Facef
fafasra greror Aise ¢ | Sculee 8 QU AT E |

Q94. India dominates the world exports market because of:
A. Currency manipulation B. High labour costs

C. Low inflation and cost of inputs D. Administered pricing of products

Q94. T F AYTd IR # 37 FRUT ¥ HRA T =T § -
A. FgT aRETere B. 3T HH oeTd
C. T Thia qur [ar i aera D. 3curel Fr FERT FrAd
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Q95. The world bank's environmentally sustainable Development Division has developed
Green Index. Which one of the following is not a constituent of this index?

A. Produced assets B. Natural assets

C. Social assets D. Human resources

Q95. T dF F gaTaRvr Adew e wsmer & N S3F7 AT FAT & | 377 T FAT 57 ST FT U 61 82
A. fafda aReafeaar B. Sepfcish aR@dfcerar

C. wrfer aRwaterat D. e aRweeit

Q96. Which one of the following statements is not correct?

A. A situation of twin deficit may or may not have B. Maintaining a competitive exchange rate is one

an adverse impact on exchange rate. of the requisites for tackling a condition of twin
deficit.
C. Reduction in the spending on subsidies and D. Current Account Deficit can be overcome only

enactment of measures to curb inflation are also through borrowing.
essential for bringing the two deficits under
control.

Q96. AR T FIeT AT FUT T IET &7

A. @ =ret & Buf @1 fafeea eX o ufdee yerma g3 ot B. e, af =ret i Fufa &1 e & fow gfaeqe
HFaT§ AT AT o IS FFaAT ¥ | R_fAHT 2T 910 @1 U 3ETHhaT ¢ |

C. Qe |ret & A1 7 W@l & AT, 3Eeel W @S A D. Shad 3UR A &1 lel ol °1e 8 360 ST Hhll § |
ety quT AErERfd o 0T W@ & 3Urt @l AT
YT oY 3T ¢ |

Q97. The period of first previous year for a new source of income which commenced in the
mid of a calendar year will be

A. the balance months of the calendar year B. 12 months from the date of commencement of
such new source of income

C. More than 12 months of its assessment year D. The exact period of such income preceding to
its assessment year
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Q97. 3 ¥ T i & fAT ygel Roar af #ir rafdy, I Fdst a¥ & #yx & 43 AN ¢, awh [

A. oSt a¥ & AV HATE B. 37T & U AT HId & YR gl T i@ & 12 AE
C. 30 [AuRor a¥ & 12 #Age § 318w D. 3Ha faefRor a¥ & qdadf a¥ & &l 37 fr 78
3rafar

Q98. How does the management ensures that the management decisions, policies and the
procedures are followed in letter and spirit by all concerned?

A. By arranging internal audit B. By arranging systems audit
C. By organizing internal check D. By conducting surprise check

Q98. yate I7 ¥ gaRaa F¥ar § B yausr & fofa, Aifa=t si aftransit &1 w3 safdat ganr e sk o
qrereT 4T ST 82

A. AR oI@T 96T T SITTAT T B. OTcH or@r U0eTr T cgaFAT
C. 37aRe ST 3mANfaaT e D. ThieA® AT darfald &

Q99. Continuous audit is useful because-

1. more detailed checking is possible

2. audit can be completed quite quickly

3. figures in the accounts cannot be altered as the auditor visits several times during the
year

4. internal check can be done away with

A. 1 and 2 are correct B. 2 and 4 are correct

C. 2, 3 and 4 are correct D. 1, 3 and 4 are correct

Q99. Taa @ ThaT YA § i -
1. s REqa dtg a9a ¥

2. o o ad Aot & i i o weh ¥

3. a@l & NFET FT 9GAT AT T FHAT FAF @1 TNETF I§ F SN 3T IR ST FA
4. 3R AT HY ST TFA

L1322 wdrE B.23R4 & §
.2, 334 EHE D.1,33R4ud ¢

>

0
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Q100. Which of the following is the Engel's law?

A. As the income of a consumer increases,
expenditure on food decreases.

C. When the income of a consumer remains
constant the expenditure on food remains
constant.

Q100. o FT AT SAA A FlT AT E ?

A. 39T HI 3T Tecil & o Wi Jerdf o e gedr
gl

C. 39HIFT T 3 R Tl & aF @ie derdf ® saa
i FEeR T &

September 15, 2017

B. As the income of a consumer increases the
expenditure on food increases.

D. The expenditure on food remains constant
irrespective of increase or decrease in consumer's
income.

B. 3UHIeFAT T 31T Tect § af We dardf W <aF Fgdr
gl

D.mﬁmmmm#mﬁwﬁgﬁ,
ey geralt X =7 2R @ &
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Q1. Fa-Hien was the first monk to travel to India.

A. Japanese B. Mongolian

C. Chinese D. Tibetan

Q1. HT-fITeT SR Y ATAT FIA 1T Tl fareg am

A. STaTAT B. FaMforeT

C. =y D. fassqr

Q2. Martyr's day is celebrated in India on every year.
A. 5t September B. 14t February
C. 21t June D. 30t January
Q2. #R A g Raw & | Y FAATIT STT B

A. 5 RaFsR B. 14 Wa{r

C. 213 D. 30 Sfeadl

Q3. The river that does NOT drain into the Bay of Bengal is

A. Krishna B. Mahanadi
C. Kaveri D. Narmada
Q3. e dr WrE F AT Pt areht w1 gl

A. o B. HAgTeTor

C. Faly D. #¥ier

Q4. Which one of the following GST rates is INCORRECT?

A. 28 B. 16
C. 18 D. 12
Q4. farafaf@a # ¥ i @ Sh.vw. &, & 7aa §?

A. 28 B. 16
C. 18 D. 12

September 15, 2017
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Q5. Banabhatta was in the court of King Harshvardhana.
A. Court poet B. Minister

C. Commander D. Royal Preceptor

Q5. FUTsE T g¥ate & GRER A |

A. YT i B. &A1

C. =gt D. T

Q6. Who was the first Chief Minister of Haryana?

A. Chaudhary Devi Lal B. Shri Arjun Singh Gurjar
C. Shri Bhagwat Dayal Sharma D. Sir Chotu Ram

Q6. AT F guIT HEIHA FieT 4?2

A. Tterdy T ofrel B. & 35l g o

C. A sAreTad ATl AT D. W B A

Q7. The Tomb of Ibrahim Lodhi is situated in

A. Pinjore B. Gurugram
C. Rewari D. Panipat
Q7. a1fed Wl 1 s # feua B

A. T B. Ireams

C. Yarsr D. uiId

Q8. Who amongst the following opposed the concept of Pakistan and formed a separate
group in the Punjab Assembly before Independence?

A. Munshi Kishan Azad B. Sir Chotu Ram

C. Allama Mohammed Igbal D. Chaudhary Shyam Lal

Q8. TadAdT ¥ Ugd Yoid Rurewer &, Rrafaf@a & ¥ Fua nifheara Y srauron &1 [y fFar sl o sreer
WHE &1 TS fHar?

A. 73 foreret 31rsiie B. T BIg A

C. 37edTHT HIgFHAC, ShaTol D. aiedy 23 ot
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Q9. Haryana cabinet recently approved extension of metro rail from Delhi to

A. Panchkula B. Hisar

C. Rewari D. Sonipat

Q9. gR= ARHSH A e & A et & TF AN F Rrar A A 3 21
A. Fagell B. fgaX

C. Yarsr D. Gisfad

Q10. How many sportspersons get the Bhim Award every year in Haryana?

A. Two B. Eight

C. Eleven D. Five

Q10. gR3ToN # & AT fraar Benf3at F ooy EwR Arerar 2

A.ar g, 9IS

C. TURE D. 9=

Q1i1. is called the Millenium city of Haryana.

A. Faridabad B. Rewari

C. Noida D. Gurugram
Q11. 1 RO &1 FAARNIH AT FeT 1T T

A. BTG B. Yarsr

C. drusr D. I&aTH

Q12. has been appointed as the new Attorney General.
A. Soli Sorabjee B. G.E. Vahanvati
C. Mukul Rohatgi D. K.K. Venugopal
Q12. Y YT A e g fram aram B

A. |rely ERTeSi B. Si1.3. argsiadr

C. #Fe Mgl D. &.%. qupaidrel

September 15, 2017 Page 3 of 28



Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Evening Session

Q13. Who is the sponsor of the Chaudhary Devi Lal Outstanding All India Coordinated
Research Project (AICRP) award?

A. Food Safety and Standards Authority of India B. National Horticulture Board

C. Indian Council of Agricultural Research D. National Cooperative Development Corporation

Q13. Therdy &t AT IeFver I/ Ry wAfPaT IrqauTeT IRASAT (T.HE. IR R.) [EFR FT IS Hiet
1

A. R @i & 3R Alelsh Jriereor B. IS SETETT &S
C. #RAT FY HeTHUTT IRYE D. TSET TgahRT faere ferer

Q14. Which of these was launched in Haryana to highlight the role of women in Swachh
Bharat Mission?

A. Swachh Shakti Saptah B. Nari Shakti Saptah
C. Nari Mukti Saptah D. Nari Svasthiya Saptah

Q14. Taes R AT # Afganst A AT W g ST F AT FRATOT F g ¥ Rrwehr yeITa H 7S A2
A. TaTo Afad dedg B. AR erferd Acdg

C. 7Y HfFT Feare D. AR AL e

Q15. Who is popularly known as 'Kalidas of Haryana'?

A. Pt. Neki Ram B. Surender Sharma
C. Deep Chand Bahman D. Chauranginath
Q15. e dhr R & "gRITON T FIfE FEd §?

A. ufsd T TH B. gig oA

C. QU de SgAa D. diaferey

Q16. What is the prize amount of Mahakavi Surdas Samman award given by the Haryana
Sahitya Academy?

A. 5 lakh B. 1.50 lakh
C. 2.50 lakh D. 1 lakh
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Q16. RN wifeew e FART AT AT FETHA YT WEA FT [EHR AR 747 82
A. 5 aEg B. 1.50 @&

C. 2.50 or@ D.1em™@

Q17. The book, "Vastrabhushan Aur Haryanvi Lokgeet" is written by

A. Dr. Veenamani B. Madhu Kant

C. Madan Gopal Shastri D. Dr. Deepika Rani
Q17. I¥d®, "FEAm{yor AR gRmorE dFAa " F dww gl

A. 3t it B. #Y Hid

C. HesT el amEs D. ST e Tl

Q18. Who amongst the following is a renowned poet and folklore artist of Haryana?

A. Dayachand Mayna B. Hemraj Nirmam
C. Babu Balmukund D. Mohan Chopra
Q18. fAFfaf@a # ¥ Fia, eI & e g 7 it AwNa FaeR &2
A. EITEE AT B. gFUST AdH

C. 91 STl Foe D. Higel =usT

Q19. Which amongst the following rivers rise from the Morni hills?

A. Indori B. Dohan

C. Tangri D. Krishnawati
Q19. AR TgIfzal ¥ Arafaf@a & @ sl d@t 7 Awed &2

A. S=aRY B. glgaT

C. TEY D. Feomadr

Q20. Which is the biggest lake of Haryana?
A. Sukhna Lake B. Surajkund

C. Brahma Sarovar D. Damdama lake
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Q20. RN H T 7@ e Fler W@ §2
A. ggaT Sirel

C. AT WX

Evening Session

B. qo1FS

D. GHGHT 3ot

Q21. Where is National Dairy Research Institute (NDRI) located in Haryana?

A. Ambala
C. Rohtak

B. Karnal

D. Hisar

Q21. gRITON F TEAT 3T IHTHUTT FEATT (T HR.IHTE. ) Fel 82

A. 3iaTeT B. &eTel

C. Ugds D. fgar

Q22. river separates Uttar Pradesh from Haryana.
A. Kaveri B. Narmada

C. Ganga D. Yamuna

Q22. Y 3ca¥ W&ew HY gRATT F 3rerer FIt B

A. Fad B. @#iar

C. 3w D. I

Q23. Match the following and mark the correct option.

Column | {Vegetable) Column Il {Production Area)
A | Potato I Karnal
B [ Onion ! Kurukshetra
C | Cauliflower ]! Sonipat
D | Tomato v Gurgaon

A. A-II, B-1,C-1II, D-IV
C. A-I, B-1V,C-II, D- III

September 15, 2017

B. A-II, B-1V,C-III, D-I
D. A-1V, B-III,C-I, D-II
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Q23. fArafaf@a &1 e #¥ 3R T RFew W A Jonw)

TaFd | (Festh) T |l (3oaEe &)
A | 3o | T AT
B | == Il W
C | Feremedr Il | Sefrad
D |eArx IV | I59ma
A. A-11, B-I,C-III, D-1V B. A-1I, B-1V,C-III, D-I
C. A-1, B-1V,C-1I, D- III D. A-1V, B-III,C-I, D-II

Q24. What is the official term of the Governor's office?

A. 2 years B. 5 years
C. 10 years D. 3 years
Q24. TSI & 9g FT IMARTRE Frdwrer fFaa a¥ &1 g\ar 2?2

A. 238 B. 5ay
C.10a¥ D. 3 ay

Q25. Who amongst the following can call the joint sessions of two houses of Parliament?
A. Speaker of Rajya Sabha B. Speaker of Lok Sabha

C. Prime Minister of India D. President of India
Q25. PFfAfAa # ¥ Fi, THE & & el & HIF T ol T §?
A. TSI THT 37ET&T B. Wlieh TT 37eT8T

C. 9Rd & JuTaHAT D. ¥R & Tseqfa

Q26. Which amongst the following is the second tier of Panchayati Raj?

A. Gram Panchayat B. Zila Panchayat
C. Village Panchayat D. Panchayat Samiti
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Q26. faFafafaa & & wla, Farad U F7 g@EU TR 8?

A. ITH T=IIT

B. fSrerm g=mad

C. [ vara D. arIa fafa

Q27. The Kalesar National Park of Haryana is famous for

A. monkeys B. birds

C. tigers D. black Buck
Q27. gRATUN FT FIAE TSET 3G ¥ faw yfdg 21

A. ST B. &l

C. 9™ D. el fgXoT
Q28. Faridabad is the biggest city of Haryana and North India.
A. Agricultural B. Industrial

C. Cattle Rearing D. Rice Producing
Q28. wigraTe FRATOM 3R 3eat W T 7ad a37 AT B

A. FY B. 3ffezfarn

C. [ aTeret D. &1 3cdTesh

Q29. Which among the following districts is known for its furnishing fabrics and carpets?

A. Panipat B. Rewari

C. Ambala D. Mewat

Q29. farafaf@a # & #lar ar e, 3r9ar eneieR Fush 3R Freliat & forw weg §2
A. Trefad B. Yarsr

C. 3rFarel D. #ard
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Q30. Pick the odd one out:

Cow, Goat, Dog, Calf
A. Cow B. Dog
C. Goat D. Calf

Q30. 3HWId FT TqT HI:

A, IR, Fedl, T30
A. I B. el

C. g D. §@3r

Q31. Find the analogy.

TRAP : VPCN :: MIKE : ?
A. ACHJ B. AJCN
C. ENCF D. OGMC

Q31. AT &E|
TRAP: VPCN:: MIKE :?

A. ACHJ B. AJCN
C. ENCF D. OGMC

Q32. Find the missing number:

6, 10, 24, ?, 185
A. 59 B. 64
C. 81 D. 129
Q32. Fuftyd H&AT AT F:

6, 10, 24, ?, 185

A. 59 B. 64
C. 81 D. 129
September 15, 2017 Page 9 of 28
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Q33. In a certain code, if A is coded as 1, B is coded as 2 and so on, then FADE is coded as:
A. 2135 B. 6145
C. 6234 D. 5462

Q33. IR vF FT aw A, IR A F 1 AT S &, B FY 2 @ rar @, 31 5@ avE 7€ w9 goar War g, ar
FADE &\ a1 for@r sirean?

A. 2135 B. 6145
C. 6234 D. 5462

Q34. (30)2 - (20)2 + (2)5 =

A. 256 B. 345
C. 467 D. 532
Q34. (30)2 - (20)2 + (2)5 =

A. 256 B. 345
C. 467 D. 532

Q35. If P(A) = 0.23, P(B) = 0.18 and P(AN B )
A. 0.29
C.0.19

0.12, find P(A U B).
0.32
. 0.46

o w

Q35. 3¢ P(A) = 0.23, P(B) = 0.18 iR P(ANB ) = 0.12 ¥ aY P(A U B) &1 A A=1d|
A. 0.29 B. 0.32

C.0.19 D. 0.46

Q36. 7 is what percent of 91000?
A. 110% B. 120%
C. 130% D. 140%

Q36. 7, 91000 FT frd=T yfaerd &2

A.110% B. 120%
C. 130% D. 140%
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Q37. Amit buys 10 kg of cashewnuts at Rs.890 per kg and sells it at Rs.1900 per kg. Find

the profit earned by him.
A. 9800
C. 11890

B. 10100
D. 12450

Q37. 3fAa 890 FuA ufer Rreitamar #Y g & 10 Rreliama F1of ligar &, 3R 37 1900 T ufy e AT &

AT 31 3WF gaRT AT W87 FT qar S|

A. 9800 B. 10100

C. 11890 D. 12450

Q38. is the synonym of "FERVOUR".

A. Truth B. Clarity of thought

C. Forcefulness

D. Passion, enthusiasm

Q39. is the antonym of "ATTENTIVE".

A. Careful
C. Distracted

Q40. Identify the meaning of the idiom.

"Blessing in disguise."
A. A hidden sacred symbol

C. A "go-ahead" from a holy person

B. Caring

D. Focused

B. Something good that is not recognized at first

D. Understand the meaning of a dream

Q41. The sentence given below may contain one or more mistakes. Identify the correct

sentence.

"Last week, the Government issues warnings of the cyclone.”

A. Last week, the Government issued warnings
about the cyclone.

C. Last week, the Government was issuing
warnings about the cyclone.

September 15, 2017

B. The Government last week issued warnings of
the cyclone.

D. Last week, the Government made warnings
about the cyclone.
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Q42. Complete the sentence by choosing the correct form of the verb given in brackets.

Rahul (like) to eat out every day.

A. liked B. likes

C. is like D. like

Q43. An example of vector quantity is

A. Volume B. Acceleration

C. Temperature D. Mass

Q43. afeer Tf¥Y &1 v 3ameor §1

A. IA™IdT B. cayor

C. d9qATT D. gcgHTT

Q44. The electrons in the outermost shell of an atom are called electrons.
A. Valence B. Bonding

C. Atomic D. Stable

Q44. TF YA F FIW FTEd BR A AlSg gaFeial B FIFCIeT Fgl JATT ¢
A. de | B. Sifegar

C. wafas D. T&adl

Q45. Which one of these gases is not a greenhouse gas?

A. Carbon dioxide B. Methane

C. Chlorofluorocarbons D. Oxygen

Q45. 3 ¥ #ia & A9 v MaeEy A ¢ €2

A. FTE 3TS TFATSS B. #rdeT

C. FARIFeRIRTeIT D. 3iferefatet
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Q46. fAFT g FT YFTIQTHY 2o TATFY |

g

A. 3

C. o1

Q47. faw= g &1 R{udia (Rehe) 3ref garsy |

9

A. g
C.9#H

Q48. A fad spgrat 1 3R e |

3 &l At | STl
A. TS TF T FHT HATg AT

C. §7elT ¥ah el STl

Q49. I fard a1 F1 agada Fard |

YolT

N

A. T[T
C. @l

Qso.mﬁmamﬂagﬁaaaﬁ|

3

-]

A. ol

N

C. fiar

9

September 15, 2017

B. grT
D. Ry

B. favmer
D. &®

B. Ife &R T 3 31eoT g1 S dl QU &R Aol giell &
D. ITeld ST e TS gled T &@Tar HTr

B. @

9

D. @Y

Y
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Q51. Securities premium will be shown in Balance Sheet under the head of

A. Miscellaneous expenses B. Reserves & Surplus
C. Loans & advances D. Current Assets

Q51. wfasgferat & N Fr gorer-o7 & ot & deer gerram sre |
A. [afay =g B. WR&TT Uq fady

C. %uT ud 3w D. =Tef yREdfeear

Q52. Error relating to fundamental aspect is:

A. error of principle B. error of commission
C. error of compensating D. error of omission
Q52. U3 Yo & FafdaT AR T :

A. Targid #r 3fe B. d#IRIeT &1 e

C. gfaqRor #r e D. §[el-geh 1 I

Q53. Profit or loss on revaluation is shared by old partners in

A. old profit sharing ratio B. new profit sharing ratio
C. sacrificing ratio D. gaining ratio

Q53. YeedIEe IX AT AT 81l F WA FBERI gaRT __ F qier Jrar ¢ |

A. Qe o187 fAeTSTet Jreqared B. =T TeT fqeiTatet Jrequred
C. TIITquT 3fequre D. afetr 3rqard

Q54. Selection of accounting policies appropriation is not based on

A. Prudence B. Amount involved
C. Substance over form D. Materiality

Q54. AT Rfew wTaaw__ wWamuRa adiaar ¥ |

A. faas B. enfder iR

C. gede ey w D. #ilfashea
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Q55. If the closing stock is increased by 6000 and gross profit ratio by 10%, then the gross
profit will:

A. Increase by 6000 B. Increase by 600

C. Increase by 10% D. No change

Q55. 3w FiF F 6000 TF TGHAT IATAT & 3 TH 1T IHTUTT B 10% T TGHAT ATAT §, AT Wehel a1
A. 6000 T S B. 600 T ¢l
C. 10% de& g&9m D. Fis gRadsT &l gl9m

Q56. The credit balance in the ledger account shows -
A. revenue or an asset B. expense or an asset

C. expense or a liability D. revenue or a liability
Q56. WA & STAT AY SATAT & -
A. JrorEa a1 aREdfed B. =@ a1 aREqfed

C. &I a1 &gar D. J=ET IT &IT

Q57. Cost of goods sold is Rs.10,000, opening stock is Rs.2,000 and closing stock is Rs.
3,000. Find the cost of purchase.

A. Rs.10,000 B. Rs.11,000
C. Rs.15,000 D. Rs.9,000

Q57. 32 T AT FY AT 5.10,000 &, TRAF €iF ¥.2,000 ¥ 317 317 €&F 7.3,000 ¥ FI ) d01G 9419
A. %.10,000 B. %.11,000
C. %.15,000 D. %.9,000

Q58. Cost of goods sold is Rs.80,700 ; opening stock is Rs.5,800 ; closing stock is Rs.6,000 ;
then the cost of purchases is Rs.

A. 80,500 B. 74,900
C. 74,700 D. 80,900
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Q58. X AT ATl T aFIT T. 80,700 § ; TRIAF T+ §. 5,800 ¢ ; 3ifas ¥+ %. 6,000 ¥ ; af FF A dF 9 3.
gl |

A. 80,500 B. 74,900

C. 74,700 D. 80,900

Q59. Fixed assets are double the current assets and half the capital. The current assets are
Rs. 3,00,000 and investments are Rs. 4,00,000. Then the current liabilities recorded in
balance sheet will be

A. 2,00,000 B. 1,00,000

C. 3,00,000 D. 4,00,000

Q59. e aRwufeaar, are aRuafeaat Hr Qe 3t Gt & ameh § | = wRwafeaat 5. 3,00,000 ¢ 3ikw Wder
¥. 4,00,000 | & JaT-u9 # gof HT JTA AT =TS FIAT . g |

A. 2,00,000 B. 1,00,000

C. 3,00,000 D. 4,00,000

Q60. Mr. A sold goods for Rs.50,000 which includes a sale to a customer for Rs.5,500 at a
cost + 10%, but these goods were still in godown at the risk of buyer. The total sales to be
recorded is

A. Rs.50,000 B. Rs.50,500
C. Rs.49,450 D. Rs.49,400

Q60. AT A 7 5. 50,000 FT AT ST [STHH TF AEF F oF¥d + 10% #A F. 5,500 & I<7 14T ATl MAA &,
AP T AT T ofY Frar A N T A # W@ ¥ | S AT T aren For @ e |

A. %.50,000 B. ¥.50,500

C. %.49,450 D. ¥.49,400

Q61. The statutory auditor of a Government Company submits his report to

A. the BODs of the company B. the Legislature

C. the C & AG D. the company secretary
Q61. T TIHRY U« FT FfAAF ar@r gdar 9= e AT FATR |
A. YT & fieere Hsel B. faene Fse

C. dr. ts T.am. D. &Ysi "fdq

September 15, 2017 Page 16 of 28



Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Evening Session

Q62. Audit of transaction does not include -

A. Propriety audit B. Efficiency - cum performance audit
C. Audit of receipts D. Audit of expenditure

Q62. AeT-eT FY AW et ¥ g AT ¥ ghar ¥ -

A. FaTffcd or@r qeT B. G&TdT-Hg- 1 fosuree orr qdat

C. rfeqar r or@r gdem D. eI &I oi@r wiam

Q63. Which of the following report will not result in qualification of the auditor's opinion
due to a scope limitation?

A. Restrictions the client imposed B. Reliance on the report of other auditor

C. Inability to obtain sufficient appropriate D. Inadequacy of accounting records
evidential matter

Q63. A ¥ Fi W RNE FrdaT F FAT & FROT AWT TherF & IR i Aegar & gRonfaa A aefe?
A. I arT AR gfdeer B. 3/ oi@r WIeTsh FI Raie ) fagaa
C. gied T Qe Gaell faser e et & 3raaAdar D, o@r feerd! v 3roiedar

Q64. The auditor of a Government company is appointed by the C & AG. His remuneration is
fixed by

A. the C & AG B. the shareholders at an annual general meeting

C. the shareholders D. the board of directors

Q64. WHFR F9it & @ wdarw 1 AgfFa @, vz .. qarT A At ¥ | 3o aRAfAE ganr a7 famar
e |

A. O TS TS, B. aIi¥e ATHTT do& # RIS
C. RS D. faeers #Hser

Q65. Which of the following Auditing Assurance Standard deals with Audit Planning?

A. AAS 7 B. AAS 8
C. AAS 9 D. AAS 3
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Q65. 37H T FiT HY AWT T&TT ITRATHA ATAF @1 G FT FofelT & Fa o 82
A.T.U.Uqg. 7 B. T.T.TH. 8

C.tuwyg. 9 D. T.v.Uy. 3

Q66. Which of the following best describes the primary purpose of audit programme
preparation?

A. To detect errors or fraud B. To comply with GAAP

C. To gather sufficient appropriate evidence D. To assess audit risk

Q66. 3 ¥ Fi AT RFeT a@T g FTIHA H AN FT MURAF 3327 F) Wafeaw & & afota Fwar 82

A. T AT HYCYUT HIFT I TAT ST B. SI.T.T. A, &7 3e]dTelel Hlal
C. UiTd 3UgFd AIeT s el D. @ qieT S&H T Hedlehal Hiall

Q67. Which of the following factors would least likely affect the quantity and content of an
auditor's working papers?

A. The assessed level of control risk B. The possibility of peer review

C. The nature of auditor's report D. The content of management representation
letter

Q67. 31 ¥ FidT UT FRF AWT TNETF & HTHBTS SEATAST T FATAT 3 AU Y A FA g1fAaT HIm?

A. frEoT SfEH &7 Aedifed TR B. TXE AR 9 FHIET hr Heqraar

C. o uliefeh T REE T gepfel D. YetreT o 378gTdeeT I T FHA

Q68. The nature, timing and extent of substantive procedures is related to assessed level of
control risk

A. randomly B. disproportionately

C. directly D. inversely

Q68. Fifaw wframsit # v, Fwg-fruior sk der P fEw & geifra Fa @ wafla R |
A. FEod &9 & B. @A &7 &

C. 9cael §9 & D. FoshfAd & &
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Q69. Which of the following is likely to be classified as a direct material cost of a motor car
wheel?

A. The metal used to manufacture it. B. The metal used to manufacture one of the tools
used in the car wheel factory.

C. The cost of operating the raw material stores in D. The cost of the quality operation on the

the factory. finished car wheaels.

Q69. AT FR F UfRT Y Foat AL arTd Y 3o F Frwrat Faffpa frar Srar wonfaa 22

A. 38 Sellel H TgF U1 | B. ®R 9fgaT ®RE & Fged Ueh 3R & fAaior &
T g |

C. FRU H FHTd ATl & $SR FI TAIId FA T o D. IR R 9t TR IJ[OTAT el T AT |
|

Q70. The first in, first out method of pricing raw material issues, exhibits which one of the
following features?

A. The issue price is recalculated each time new B. The issue price is always at the latest price.
deliveries are made into stock.

C. The goods are always issued strictly in the D. The issue price is always at the earliest price.
physical order in which they are received.

Q70. F= AT & 3G & H1Ad fAuRor i vre-ga1, FEe-3m3e RAfYr g3 @ Fior W Fdwar aaered 82

A. 9% IR ST Teieh H 7S GUEIN gielt §, S HAT HT B, 53 HHAT §AAT AdATH HIAT Gl & |
o1 aREolet R ST § |

C. #Arel T gl g & 3¢ sitfien vy & ST fovam D. 39 A gHAT Fod Ygol T H#AT giell & |
ST & Tores 3¢ ared fhar arn g o

Q71. Which of the following is not a method of pricing raw material issued from stock?

A. Standard costing B. Unit cost

C. Marginal cost D. Continuous weighted average
Q71. sd ¥ Fiar 1 A weiF & I F=2 A H FAg RuRT N RO &R 2

A. AR FTeTd-foreiRoT B. 3F1$ oW1

C. ATfoieTel AT D. faer anRa 3itwa
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Q72. Which of the following is a direct labour cost?
A. Supervisors' salaries in the factory. B. Costs of the payroll accounting section.

C. A bonus paid to the store man. D. The wages of an operative paid on the basis of
output achieved.

Q72. 3 ¥ FieT AT YT HA AT §?
A. FREA H qAdeTH FI dcfeT | B. dceIEY oI G 3Tef8iTeT Y ST |
C. TR #< I fem 7 s | D. 9Ied 3T3eYE & TR WX JATAReX I ferm Ir2m ek |

Q73. Production overheads are absorbed into production units by the use of an overhead
absorption rate. Which one of the following best describes how the absorption rate is
calculated?

A. Total number of units produced divided by the  B. Total number of units produced multiplied by
total cost centre overheads. the unit overhead cost.

C. Total cost centre overheads divided by the cost D. Total indirect costs for the business divided by
centre activity level. the total number of units produced.

Q73.m*ﬁﬂﬁwmmm“mmmgmﬁmﬁmmﬁmm%
| ITTRANYUT &I T IRF HA FFAT ATAT &, SHFT IUI 5T & HieT AT AFew Fafead o7 @ Far 22

A. AT gehrgal ST o TEIT T ol AT Fhoy B. fATH SHhTSET i ool HEAT HT SIS FUNTY AT &
STl & #19T S| IO |

C. el AN dhog FUATAN B AEI dhogs B ER T D. FRIER & T el G067 o7l 1 ATHT geprsat dr
HTIT | Fol HEAT W 1T H |

Q74. XYZ Ltd has a labour intensive assembly department. Which of the following methods
of absorbing overheads is likely to be used for that department?

A. Direct labour hours method B. Direct labour cost method

C. Direct material cost method D. A percentage of prime cost

Q74. XYZ fAffies & 43 g 3A+ael AR ¥ 39 fFsmr & AT Fudleaal w1 3r@nyor #a & o o8 d 7
fafer &1 yAer R SIer Y FerTaer 82

A. 9T HF guer A B. WcgeT 817 oIeTd [afer
C. ycgeT @l wrerd fafer D. HeT of1aTe shr wfderear
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Q75. If unexpired insurance appears in the trial balance, it is shown on the :-

A. Asset side of the balance sheet

C. Note under the balance sheet

B. Liability side of the balance sheet

D. Trial balance

Q75. I AY qfietor & rwATed AT FATAT FATAT § Y X TgT @A STwan -

A. JefeT-g & aReafed a7 &
C. qoiT-99 & e feoqolt & &9 #

B. oieT-U o &Il qaT #

D. Y gdreyor

Q76. Which of the following is not an essential feature of a budget?

A. There is a clearly defined budget period.

C. It permits managers flexibility in terms of the
policies that should be pursued to meet corporate
objectives.

B. It is a combination of financial and non-
financial data set by reference to key budget
assumptions.

D. It has been formally approved and accepted as
realistic by managers.

Q76. 38 ¥ FiT AT AweT Ioie A T TS FLyar g1 82

A. T §9 § gRIATNT Foic 3@ gldr g |

C. I 3o At & TRYET H Jaerehl T e 3ead
FIAT & TIeTehT UTelel SIaRe 38247 T 9Ted et & folw
T Sre @Il |

Q77. A master budget comprises -

A. A budgeted balance sheet

C. A budgeted balance sheet, profit and loss
account and cash flow statement

Q77. AR T Har ¢ -
A. SStfed Jofel-a

C. e JoleT-ud, A1 d g1fer @relm 3R ¥Ry e
aror
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B. ¥ faccha qur IR-facciar stiest 1 Faer § S 9@
ST AT & Heet gant fAuiRa fre o € 1

D. 38 Yayeh! ¢arT IUrd & # Hqaie alis &
IR 3R TR fohar s § |

B. A budgeted balance sheet and profit and loss
account

D. A budgeted balance sheet, profit and loss
account, cash flow statement based upon
coordinated departmental operating budgets

B. Soifed Jofel-U= Td o187 g gIfel Wrelm

D. gAfrad TTHRIT Jarae=i soiel & TR &R Seifed
AT, TS F gIfed W, aFehe Tifee faazor
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Q78. A flexible budget is -

A. One where departmental functional managers B. One where the budget is permitted to alter to
are given discretion over the application of reflect changes in activity levels.
spending limits.

C. One where managers are given discretion as to D. One which allows departmental managers to

the investigations which are carried out into design their own budgetary control reports.
variances revealed by budgetary control reports.

Q78. dueR I9¢ § -

A. foreet faemaier srdelier saeren! sl @d et i At B. ST6T Sddhardl & Fo’i # IRade g2l g FUR et
& JeoriteT R fademfReR feam ST ¥ | T AT BN & |

C. T8l TSI Pl VH STT-ISdTel et HT [AARIADR D. Torae Tasmeli Yeerehl &l Ig 3rTATd &1 STl & 7o
fe=m Srar § Niee sorery o1 Rutet gant aird aRadear  3melt goréiar faa=or RO &1 3iffewed dar &7 86 |
AT srar g |

Q79. In a manufacturing company, which of the budgets will normally be prepared first in
the budget preparation cycle?

A. The stock budget B. The production budget

C. The cash flow forecast D. The sales budget

Q79. T AN FueAt &, goiec A IF F AHFIT: FH TR FT Iolc Tad g IR FaT Smean?
A. Tl S9ic B. 3cUigel Saic

C. FRT HTiee T FaTeTATeT D. AT dolc

Q80. The administration of the budget process in a large organization is normally the
responsibility of:

A. The board of directors B. The audit committee

C. The chief executive D. A budget committee working in conjunction
with the finance function

Q80. T2 IS H To¢ AR F A YIFAT AT S FFAey e @ -

A. fAces Fse B. or@r e afafa
C. #ET HAUTS D. e &1 & 1Y SRR goic afAfa
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Q81. Which of the following statements is valid?

A. The Budget Committee should set the budgets B. Cost centre managers should prepare their own

for cost centre managers. budgets.
C. Management accountants should prepare D. Senior management should prepare cost centre
budgets for cost centre managers. budgets.

Q81. 3N ¥ &l AT Fya ey §?

A. golc GfAfa &) IRTT Feg Y & fOT goe o B. ST sheg o JELehT sl 3eTeh 3Tl Tolc dI dlel
FT TR | MY |

C. Y% JWIhRT ! AT dheg, & TRl & ol goic D. aR™a YT I dRTT Fhog Tolc IR FIET AR |
TRIR &TAT AT |

Q82. A standard cost which will be most useful for control purposes is one which:

A. Contains no allowances for normal losses or B. Is set in advance of the control period and
other forms of wastage. which then remains unchanged.

C. Contains a reasonable degree of allowances for D. Managers are expected to achieve at all times.
operating inefficiencies.

Q82. AH anTd Y I F yASTd watfrew 3gAieh gem, ag & Swsd /o -

A. FTEROT g AT 3T YR & JURISer & v g B. =01 3raf®r & 33 & a¥ fFar sar g ik &
HedT QAT e g | RGfId T T ¥ |

C. JeTe=g HETHAAIHT & fIT FHFIT AT & ofcd MAT D Teerehl A GHAT gTHA Fal T Y& T ST & |
e |

Q83. Direct material total variances can be analyzed into:

A. Efficiency and price variances B. Price and productivity variances
C. Price and usage variances D. Efficiency and usage variances
Q83. Wt Wt Fer Rae 1 favarwor gwe far 91 wFar ¢ -

A. G&TaT Td drAd aiad B. $IAd TF 3curgehar IRad

C. FAd g 39T aRad D. G&TdT U9 39T gRad
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Q84. Where the entire block of the depreciable asset is transferred after 36 months, there
will be:

A. Short-term capital gain B. Long-term capital gain

C. Short-term capital gain or loss D. Long-term capital gain or loss
Q84. STEl HeaF-Aey TREUTed & FFYUl st H1 36 AL & ae AR T siar ¥, Tg -
A. 3eqehTellel Gait wifser grem B. &refepteltet dait wifser grom

C. 3rearelT $ot afexr ar g gem D. EfTeieT o wife i gifer g

Q85. If good will of a profession which is self generated is transferred, there will:

A. Be capital gain B. Not be any capital gain
C. Be a short-term capital gain D. Be long term capital gain
Q85. I vw ¥ A Tfey S T Yo iy 71§ ¢, Ak Hr I g, a -

A. olTer e g B. % YohoTe e wigt gl
C. 37eqarelleT Yail afstr grafy D. &reranrelst Joft aifekr grafy

Q86. Exemption under section 54 is available to:
A. All assessees B. Individuals only

C. Individual + HUF. D. Indian Company
Q86. URT 54 & T8 B€ 5+ WI°d § -

A. T freiRelr B. &ao safad

C. afdd + Ta.g,T%. D. R Foar

Q87. Loss from a speculation business of a particular year can be set off in the same year
from:

A. Profit and gains from any business B. Profit and gains from any business other than
speculation business

C. Income of speculation business D. Income from other source

Q87. it fadw faeRor ¥ F wer FRIER & ¢ arfar A 33 feRor af # frafaf@a & gt s awary -

A. faeT off FRISR & ot Ta afsyr B. HET FRIER &I Siga fhdl #ff SRITR @ o1e vd affser

C. 93T $RISR § I D. 3= | & 3
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Q88. Education cess is leviable in case of -
A. An individual and HUF

C. All assessees

Q88. AT 39F 37 AHS # ITA-ATT T § -

A. IfFd T T3, UG

C. el foreiRelr

Q89. A country is said to be in debt if :

A. It has to abide by the conditionalities imposed
by the international monetary fund.

C. It has been refused loans or aid by creditors
abroad.

Q89. TH A FI IURITT gl AT § I :

A. 38 IFRTET 3T AR garr sifoRifRa erdf &
qTelel AT 95T & |

B. A company assessee only

D. Not taxable

B. shad &uar UTRdr
D. & AT gt

B. It has to borrow to make interest payments on
outstanding loans.

D. The World Bank charges a very high rate of
interest on outstanding as well as new loans.

B.ﬁwﬁwmwwméﬁfwm
oA USAT © |

C. 39 Tacer RUd deIgRT g@RT HoT A1 A& TIAT ¢t D. f32d s 7T Fuil & ATY-ATY FHAT AR ) AT 6T

T ISR T = g |

T T TR T & |

Q90. Which one of the following is responsible for the preparation and presentation of

Union Budget to the Parliament?
A. Department of Revenue

C. Department of Financial Services

B. Department of Economic Affairs

D. Department of Expenditure

Q90. THE FI FAIT FAC IR FA AN 38 TFqd F& & AT 373t § Fler Seaerh 2

A. TroTEg fasmeT
C. [acdrar dar fqemer

B. 3nf¥e &RT [gsmer
D. = fa#mer

Q91. Which one of the following statements is an appropriate description of deflation?

A. It is a sudden fall in the value of a currency
against other currencies.

C. It is a persistent fall in the general price level
of goods and services.
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B. It is a persistent recession in both the financial
and real sectors of the economy.

D. It is a fall in the rate of inflation over a period
of time.

Page 25 of 28



Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Evening Session

Q91. 3AH ¥ FiT AT FUA aThIfY A 3T AEAT FIATE ?

A. TE 3T FEIHT & THET T & Hed H 3hTAR B. I8 31¥-cyaedr & facdiy 3R areafas ekt arar 7
e § | R #T |

C. Ig ATl 3R a3t F FrHT HAd TR & TR D. Ig FAIETY & Ferehif T & & FREe ¢ |
REe & |

Q92. A great deal of Foreign Direct Investment (FDI) to India comes from Mauritius than
from many major and mature economies like UK and France. Why?

A. India has double taxation avoidance agreement B. India has preference for certain countries as

with Mauritius. regards receiving FDI.

C. Most citizens of Mauritius have ethnic identity D. Impending dangers of global climatic change

with India so they feel secure to invest in India. prompt Mauritius to make huge investments in
India.

Q92. A # rcafts el yewer fder (vh.313ns.) .. 3R wiw S s o aur aRusq srd-sgawgnit
Y et H AR AR &er ganr fmar siman @, F4i?

A. $TRC T ARI o TTY Gl HIUT AR SR G | B. TH.Z13MTS. YT el oh HGY H Rl H Foeh ST b
ary grafAsar AuiRa § |

C. AN & TR ARG H ART & WY AEFfae  D. dRas sTeary aRads & 3m8e TRl o AR #
Y &, SATIT d R A e et AT FASTA 8 | R # o3 A il & fIT FeiX &= |

Q93. The reduction in Personal Disposable Income which results from tax rates not being
adjusted for inflation. It is termed as:

A. Fiscal Illusion B. Fiscal Crisis

C. Fiscal Drag D. Fiscal Rectitude

Q93. st ST et A7 3 # Fekeh Y AEERfY & fre FARASI o fFe v R F TRenfAa @ ¥, 3 Fa
ST ¥ -

A. e a7 B. f@cd e
C. facdT s¥ur D. e sATACY

Q94. Open Market Operations of RBI relates to:
A. Bank rate proposed for public deposits B. Bank rates proposed for commercial banks

C. Government reserves D. Government Securities
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Q94. HR.A.3E. ¥ A AR & TaTeT FHA Hafea & -

A. GrdSTiaies STAT3T & foT gearfad S gt
C. THRT JIRET0T

B. arftifoges d&t & faw gyearfaa d gt
D. &K yfasforar

Q95. Which one of the following is not permissible under India's current account

convertibility?
A. Residents holding foreign exchange accounts.

C. Exports holding foreign currency accounts.

B. Foreigners holding accounts in Indian banks.

D. Free movements of short term capital.

Q95. HRA F T FTAT IRATAIAT & T6 594 @ rwehr Tfawrdar ¢t §2

A. e St fagel fafaaa @rd arRa axa § |
C. foraTer srgt faeet #er @rat € |

B. fagelt fSereh R dhf A @i & |
D. 3reqehrelie] Yt T Ferel FeroleT |

Q96. Which one of the following is generally regarded as true index of economic growth?

A. An increase in National Income at constant
prices during a year.

C. An increase in National Income at current
prices over time.

B. A sustained increase in real per-capita income.

D. An increase in National Income along with
increase in population.

Q96. sad ¥ fFd wwTTa: e RFma F1 Foar Fawiw AT AT §?

A. I & gR1eT 2R AT IR TSI AT H Foica |

B. aredfas ufd safea 3 & fAdgag seica’y |

C. AT & GRIT IdATT HIAdr W IASET 37T H Folcd] D, TATEAT H Folcay o ATL-ATY TS 3T H Folcar

Q97. Which of the following is correctly matched?

A. M1 and M2 - Broad Money

C. M3 - Least commonly used measure of money
supply

Q97. 34# ¥ 5y RAdeq #1 waw AT &2
A. TtH.1 3R TH.2 - IUs uT

C. UA.3 - 4l gfct &7 HTH AR W HA SEIATS 6T S
arel 39T
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B. M3 and M4 - Narrow Money

D. M4 - Least liquid of all the money measures

B. TH.3 3R tH.4 - GhoT a4
D. TH.4 - 97 gatll g3 3urai 1 o A aleldn
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Q98. Depreciation accounting other than natural resources, wasting assets, expenditure on
research & development, goodwill and livestock; is dealt by which among the following
Accounting Standards (AS)?

A.AS 6 B. AS 12
C. AS 15 D.AS 9

Q98. T fas FHTHAT F IHATET HeAerH FT d@iHa, IRFUTcadl FT gouaNT, IHHeTT va fFFma W =13, gawr v
weper; 3 @ R dET Ao (v.ew) § wEfta g ?

A TTHG6 B.twH 12
c.TtuHa 15 D.TtT# 9

Q99. The alternative that would decrease the contribution margin per unit at the most is a
20%

A. decrease in selling price B. increase in variable costs

C. increase in selling price D. decrease in variable costs
Q99. ey St 3ivrer Aol wfa afere # ftrw ¥ flrw w1 Fam, 20% T
A. T Hoa 7 HaT B. gRad ameret # gig

C. fsrar 7w 3% D. afadf amerelt #F e

Q100. Which of the following is an important dynamic variable?

A. Superior's style and behaviour B. Organisational nature
C. The task structure D. Cultural variables
Q100. 377 & FT &1 AFeq va FHgcayet arferefier aRad 82

A. 3TenfasmRar @ el 3K sgagr B. HITSHTcHS HEDT

C. & EGeAT D. |iEhich qRad
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